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1 >> A=[16 3+i 2 13;5 10-i 11 8;9 6 7+2i 12;4 15 14-4i 1] ! A
>>a=1 EA: ! }ans=
a :1 ! 16.0000 +0.0000i 3.0000 + 1.0000i 2.0000 +0.0000i 13.0000 + 0.0000i i E 16.0000 +0.0000i 5.0000 +0.0000i 9.0000 + 0.0000i 4.0000 + 0.0000i
| 5.0000 +0.0000i 10.0000 - 1.0000i 11.0000 + 0.0000i 8.0000 +0.0000i 1130000 - 1.0000i 10.0000+1.0000i 6.0000+0.0000i 15.0000 +0.0000i 1
>>b=2.5 | 9.0000+0.0000i 6.0000+0.0000i 7.0000 +2.0000i 12.0000 +0.0000i 1} 2.0000+0.0000i 11.0000 +0.0000i 7.0000 - 2.0000i 14.0000 + 4.0000i |
b= | 4.0000+0.0000i 15.0000 +0.0000i 14.0000 - 4.0000i 1.0000 + 0.0000i !} 13.0000 +0.0000i 8.0000 +0.0000i 12.0000 +0.0000i 1.0000 +0.0000i !
o 32:::)000 1>>inv(A) E E >>A!
ans = | ans = 1 lans=
3.5000 E 1.4762 +1.8175i 3.6349 +5.6587i -3.9048 - 5.5952i -1.4127 - 1.7540i | | 16.0000 +0.0000i 5.0000 +0.0000i 9.0000 +0.0000i 4.0000 + 0.0000i !
| -3.2381+0.8095i -9.7143+1.8095 9.7143 - 2.0000i 3.2381 - 1.0000i E i 3.0000 +1.0000i 10.0000 - 1.0000i 6.0000 +0.0000i 15.0000 +0.0000i |
| 3.2381-0.3095i 9.7143 -0.3095i -9.7143 +0.5000i -3.2381 + 0.5000i 11 2.0000 +0.0000i 11.0000+0.0000i 7.0000 +2.0000i 14.0000 - 4.0000i |

| -1.4286-2.1270i -3.5873 - 6.5873i 3.9048 + 6.5238i 1.4127 + 2.0635i H 1 13.0000 +0.0000i 8.0000 +0.0000i 12.0000 +0.0000i 1.0000 +0.0000i
I

__________________________________________________________________________________

022 (a)00a b0ae+b0(b)00000000000000000
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"0z n0O0000O

O00000000000000000Osin(e)000O

O0UOz+iyUzx+y 000001406 00000:00000
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https://jp.mathworks.com/help/matlab/matlab_prog/matlab-operators-and-
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0.8415 0.9093 0.1411
-0.7568 -0.9589 -0.2794

1>>A=[123;456;789] 1 ' >> B=[sin(1) sin(2) sin(3); ! 1>>A*B |

' ~ ' ' sin(4) sin(5) sin(6); : ' ans = !

1A= ' I sin(7) sin(8) sin(9)] b !

P12 ! g .} 12988 1.9595 0.8186 '
= 1

, 456 ! : || 35238 47787 16401 |

! ! | 08415 09093 0.1411 I '

7 8 9 ! ' || 57488 7.5979 2.4616 !

Uos Ar10 | 1 -0.7568 -0.9589 -0.2794 L A !

1 1 1 1 >>A.

I I | 06570 0.9894 0.4121 ot |

I ans = 1 1 h : ans = I

1 1 1 el

1112 13 | 1> B==sin(A) |1 08415 18186 04234 !

1 1 1

ans = 1

' 14 15 16 ! ! ! 30272 -4.7946 -16765 :

I 1 3x3 ® logical BL5l ! !

' 17 18 19 ! ! gi o 45989 7.9149 3.7091 !

! ! 111 oo I

: >> sin(A) 1 : !

I ' 111

I ans = 1 1

i i 111

1 | 1

1 | 1

1 | 1

1 | 1

1 | 1

1 1

0.6570 0.9894 0.4121

023 (0)00 ADO0O00A+ 10, sin(4). (000 B = sin(A;;) 000
BOsin(A)00O000000000.000A%B, A.*B

00 A00000000 2.300
e 00 AD 4,000 A(i,5). Ay = A(i, §)

e A+1000A0D0DOOO0 100000000 (A+10);; = A;; + 10.
gogbboboogobboboooon

e sin(A)0000DO
(Sln(A))” = sin(Aij)

gogboboobboboooobbog 233000
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e ABOOUOO0ODDOOUUDOOOUODODOAxBODOOOO
good

A * B ZAszk]

gog
OOOOMATLABOOOOO A «xBOODOODOODOOOO

000000000000 00 (Hadamard product) 000000
gooooogo

e "00000./0D00O0D0DODODOOODODOOOOOODOODODO
0 (Hadamard power)J 00000 0O (Hadamard division) O O
goon

e 00 A BOOODOa=[A,B|0000 a=[AB/0AO0 BOODO
0000000000 A0 BOOODOOOAD BOOOOOOOO

e b=[A;B|00O0D0 A0 BOOODUODUOOUDADOD BOOODOODODOO

00 2.3)

MATLABO A" (-1) 0 A" (-1)0000000000 1/A000000
00000000000

ooo: /

0000000000000000000
00000000000000000000000000000 AOO
00002x200000000000000000000

00000000000000000000000000000000
0000000000000A==B000A0 BOOOOOOOOO
00000000000000000000000 1000000000
0000000000000000 f(z)==00000000 (z)=00
000000000000000000000
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A'I'L

eA

sin A

cos A

nO0 A
PN
1 1
E+A+ AT+ 4 —A" 4 (2.1b)
2! n!
1 1
Adb — AP = p2ntl 2.1
M TR s D R (210)
1 1
E+ —A%2 4 ... 4 = A% ... 2.1
A AT (2.1d)

O000o0oDoO0OO0OoO0OoOMATLABOOOODOOOOOOoOoOOoOoOo
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3.1 O0O10000

3.1.1 0o0ooon

1171 + ajpxe + a13r3 = by
2171 + A22%2 + A23T3 = by
a31%1 + a32T2 + azzrs = b3

gopooolbogooooguoooooooooboggoooun
Ax =0

O00A0OnxnO0,2, b0 n0000000000O00O0O00ODOODO

__________________________________________________________________________

1>> A = fix(10*rand(3,3)) i 1>> A0O=det(A) I 1>> D=A*C E
A= ! 'A00= ' 1>> E=[100;010;001];!
E 7 6 0 ' i -62.0000 1 1>>D==E i
H P : Eans: !
| 712 I 1>> C=inv(A) v !
'3 7 0 PoiC= i1 3X3 (0 logical B25
'>> rank(A) | 1 0.2258 -0.0000 -0.1935! ! :
b ons = ! ! -0.0968 -0.0000 0.2258% i 1 0 1 :
| I 1 -0.7419 05000 0.5645: i 11 1 |
b3 o Pr101 :
1 >> B=eig(A) |TTTTTTTTTTTTTTmmmmomomt bemmmmmmm oo '
8= ;

1 11.7274 i

| 1.0960 i

| -4.8235 5

031 0000000(0@)00 A00D0DO0D0OO0DOO0OO. (00000
A0DD0O0OOOOC=At000AC=0000000000000
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00 A'00000o0ooooo
x=A"b.

Oo00o0oO0obOoOOooooooobbo0oobOoonDADODODODODDOO
gosbbooobbooboooboooobobbooboooboog
gobbooobobogobbuooobbuooobbooobboono
gobbboogobbbooouooobbbuooobbbooobboan

0310000000000000000
erandd (0,1)00000000

e X =rand(ny,---,ny) 00(ny x---xny) 0000000000
NOOOnyx---Xxny00O0OO0OO

e ix0 000000000000 0D0Ofix(19) = 1, fix(—0.9) = 0).
e rank(A)000000000000000

e OO UOOLOOUUOOOOLODLDOLDLDDOUOOOUOOOO
gooo

U000 D=FE0000003x300000000000DO0O0O0ODO
gboboobobooooboboubobobooboooobon
goboboboooooooooobuoboo b—-FEOO0ODODOODO
O00)0000000000ooooooOoOoo

3.1.2 00100000 MATLABOOOOOOOOO

Ax =b
O00D0D0z=A"'00000
x=A\b

gbogugbobuodgbobuoobobuooboboboobobo 11
gogoobbobbooooooooobbbobbbboodoooooon
ggdgooooooobbbbobbbbbotddouooooooon
gogboboboboooobooboboboooobob nnobboboooon
gogooon
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3.2 ODOOOOOOOOOOO

nxnO00 AODDODOOOOODOOOOOOODOOOOOO0O0ODO O
00z, 2e,---,2, 0000 n0000 10000000

(A—AE)z =0 . (3.1)

AIOODFEO nxnO000002z0000000 = (21,29, ,2,) 00
000 ANODO0D0O0OD0O0D0O00000200000000000000
000000000

0000000000 «2#£00000000000(A—-AE)00000O
000000000000000000000000

det(A — \E) =0 (3.2)
O000NOOOODO00O000O0C0O00O0O0000 3.200

1>> A = fix(10*rand(3,3)) ! 1>> [V D]=eig(A)
A= VS
9 7 0 P10 06479 -0.5672
2 3 0 0 -0.7215 -0.1455
17 5 5 | 1.0000 -0.2443 -0.8106
i >> rank(A) i i D=
{ans = i 50000 0 0
3 P10 12042 0
I>> eig(A) P10 0 107958
ians= I fTTTTTTTTTTTmmmmmmmmmmmmmoooees
5.0000
1.2042
10.7958

__________________________

032 (0)00ADDDOOOOOOODOOOOOOOOOOO. OO0
00 AD00DO0ODOODO0OO0ODOO pOODOOODOODODODODOODOOO
gooooooog vo

e rank(A) D00 AODODODOrank) ODOOO

e c=eig(A) 000000 ADDDOODDOODDODOODOOOOODOO

e [V,D]=eig(A) 0000000000000 DOOOOOOOO
000000000000 V(00O AxV=Vs«D)00O0O0O
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40 O4OOOOOOOO

gogoobobbobbbtooooooooobobobobbbdoooooon
googoobbbbobobbbbobbbbbbbdoooooooon
ggboboboogobooboooooboon

MATLABOOOUOOOOOUOOODOOOOOODODOOOOOOO Sym-
bolic Math Toolbox 00O 0OODOO0OODDOOOODDOOUODOODOOODOO
gogoobobbbbobbodoooooobbbbobbduooogon
ggbbbuoodgobbboooobooboooobbbooooboo

4.1 U0O0O0OO0OOOOOOOOOOOO0OO0

4.1.1 0O0OU0O0OO0O0OUoObboooooooboboood

gbogbouooboobo4i10b000b0o0od

: >> s=sym(’s’) ' : ___________________

>>symsy z !
1 >> expand((s+1)"3) | >> expand((y+1)"3) !
I 1ans = |
jans = ! |
JYA3 +3%yA2 + 3%y + 1 I
|
|
|
|
|
|

1
A3 +3%sh2 + 3*s +
1573+ 372+ 3% +1 '>> simplify(z/3+3*2/2+3*2+1)

U 41:00000000000000b.

e r UDIUDDUUODLOUODLDUOLDUODOO syms z UOOO
r=sym(2)0000

e expand DO OOOO

e simplify DO DOODOODOOOOOOOOODOODOO
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goooooooooopbooogoooooooooooooog
A = sym('A’,[2 4))

O002x400 A0D0OO0OOOO0ADyO00 AIjOOODODOOOO
O0sym 000000000 0ODO0O0OO00O0O0ODO0O0OO0ODOO underscore
gogobobbobooboobooboobod

4.1.2 O00O0OOOOOO

gogodgbbbobbbbiooooodoooooooboooooonon
gogobobbobbbtboddgoooooooobboduooooon
000000000000 4.2)0

:>>symsabcx :>>symsx I

. |

| 5> eqn=a*xA2+b*x+c==0; | >> eqn=sin(x)==1 !
1 _

| >> sol=solve(eqn) €N = |

. :sm(x) ==1 "

sol = 1>> sol3=solve(eqn,x) :

-(b + (b"2 - 4*a*c)7(1/2))/(2*a) 1 1Sol3 = |

1

-(b - (b"2 - 4*a*c)7(1/2))/(2*a) !

_____________________

>> sol2=solve(eqn,x)

sol2 =

-(b + (b"2 - 4*a*c)*(1/2))/(2*a)
-(b- (b2 - 4*a*c)A(1/2))/(2*a)

B,
~
N

042 000000000.

eeqn=---==--- 000000000000 ‘eqn’ ODODOODOO

e solve(eqn) OO OO ‘eqn’ 0000000000000 OOOOO
symvar OO0 0000000000000 0OO0ODOO0OOO0DO0
0000000000'00000000000000000000
goddddddUsymvarD0OD0DO0OO0DO0OO0OO0O0O0OOO0O0O0OO00O
gogbbobuoogobooboooon

e solve(feqnx) 0000 equ 000 00000000 O0DOOODOO
goo

1000000000 000000000000000000000000
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4.2 OO0O0OOOOOOO

goggobbbboouodogooooobbbbbbotbduooooon
ggod

4.2.1 0O

00000000000000000000000000000000
00000000000000

00000 diff(f), diff(f, z)

000000 f000000RO00000O

00000 diff(f,n)

000

00000 fz)0000

00000 eq2=diff(f,2)
000020000000000eq2(z)000000z=2,0000 2
00000D000000000D0 4.3)

| >>syms X n | 1>>symsxn i
| >>f(x,n)=x"n \1>>80n)=n*x"(n-1) E
) = et |
I | n*xMn-1) .
| X n L |
E >> df1(x,n)=diff(f,x) i E >> intg(x,n)=int(g,x) i
1df1(x, n) = | Hintg(x, n) = E
! n*xA(n - 1) ! ' piecewise(n ==0, 0, n ~=0, x*n) i
;>> df1(2,n) L I>>int(g[1,2]) i
1ans = i tans(n) = !
i 27 (n - 1)*n i i piecewise(n==0,0,n~=0, 2n-1) E
| >> df2(x,n)=diff(f2) !

i df2(x, n) = |

n*xAn-2)*(n-1)

043 0000000000.
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4.2.2 000

gbogobgoboobboboobooboobo

4.2.2.1 000

000200 z,y000 f(z,y)O

00000 syms Xy

00000 f=x" 24x*y+3*y" 3
O0o0doobooxoooooooon

00000 diff(fx)

yooooooooo

00000 diff(fy)

gooooooogoo

00000 diff(fx1,x2,000 xn)

0000000 fOx1,x2,0M,xn OO0O0O0O00OO0OOO

goon

zy(a? —y?)

flz,y) = pEay

gigbogboboo20boboboboooobbobobooboan
goooood

4.2.22 0000O0ODOOO

oo0ooo f(xy, 2o, ,7,) 00000000000000OCDOOOgradient
gobobobooooboon

O Syms Xi Xgo -+ Xp

[fxrs fxps -+ fx, ] = gradient(f)

f(x) 0 n0000000
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4.2.2.3 UO000O0OOO0OO0OOODOO

gogbbobooodgbobobodn

O r = z(u,v)

Yy = y(u’ U)

oot z,y0D000000w,o0000000000000000O
gogboobbooggn

/f(%‘,y)d:cdy:/f(x(u,v),y(x,v))|J|dudv

000000J|0000000J0000000000000 (z,y) 0
(u,v) 00000000

(& s ooy oroy
N g—z % C OQudv  Ovou

gogbobobogoobobodao

O syms u v
r=u."24+v."2
Yy=2%x. %Yy

jacobian([x, y], [u, v])

4.2.3 0O00O0OO0OO0OOO

00000000 bOo000D 1000000000 b0oOO00on0MATLAB
godoobooooooouoood:

godbOb0 >> symsx

00000 >> f=log(1+x)

00000 >> taylor(f,’Order’,8)

godbbl ans =
O0000x"7/7T-x"6/6+x"5/5-x"4/4+x"3/3-x"2/2+x
godoobooooooooooooooooooooot
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00000 >> syms x

00000 >> taylor(log(14+x),x,’ExpansionPoint’,0)

goddn ans =

00000 x"5/5-x"4/4+x"3/3-x"2/2+x

00000 >> taylor(log(1+x),x,’ExpansionPoint’, 1)

Uoodn ans =

00000 x/2 + log(2) - (x-1)"2/8 + (x- 1)" 3/24 - (x- 1)" 4/64
00000+ (x-1)" 5/160 - 1/2

00000000 log(l+x) O x=0 00000000000 x=1/200
gbodgbooboboboboboobuooboobuogboobobbon
gobbboooboboboooobboboooobboooogd

godoooooobbbboooooood

00000 fplot(f,[x1 x2])

000000 (plot(xy) 00 (2,9) 000000000000 M [xI x2] O
guobboogoobboooobboobbbooobbuoooooon
000 550000000

4.2.4 00O

ggoouobooobobbooooo

00000 int(expr,var)

goboooouobobbtboidd var OO0 OO expr g
gogoog.

00000000 OoO000oooooooooooooooOO [1.0,2.0]
gboogod

00000 int(expr, [1,2])

000000 4.3)

"=0000 £000

200000030000 00O000d

integral2, integral3
0000000000000 00bOO0DbOO0DODO0Do0o0obOobOobOgog
O0ooooooooooooooon
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s oo

5.1 MATLABOOOOO

gogooooobbbobobbbbbboddooooouooobbbon
ggbobuoooobbobuoooobbbooogno
goboboobobobobobooboobooboobooboooon
gobogbodbuobuogboobobobobbbuooboobon
gogoobobbobbodoooooooboboboobbbodgooooon
googoobbbbbbibododdoouoooduoooooooon
gobbooobobuogobbbooobboooobobooobbon
gobbuoodgbboooobbuobuoobbooobobbooobn

5.1.1 0000 on

00000000000 200y00D00OO0DODOODOODODO
0000000 semilogx, semilogyD OO0 OO OO0OOOO loglog OO
00.

000000000000 0o0bO0oo0D—00000ooboooogoog
0000000O0bO0b0000o0ooO0obODOobO0obOobooooooooo

gboobuoobooboobobbobob
e UUDODO
e [
e J0UD0O0DODOODLOOODOOD

gboobuooobuoobuooboobobboobooboobod
‘MATLABOOOOOOOD'00OoOoOOoOoOoOooDOoooDboogooo
gbooboboobn



24 Os50 000

https://jp.mathworks.com/help /matlab/creating_plots/types-of-matlab-plots.html
ggdoooobbbbbuooooooooooooo

5.1.2 2000000

gbogob200000b0o0bobobbooboobboobobon
000000 f(z)000O0D0O0O0ODOOOODOO 5100

>> x=[0:0.1:2%pi]; | o
>> y=[sin(x);cos(x)];
>> plot(x,y) 02|

_________________________

051:20000000000000000 sin(x), cos(x) 0O .

O000020000000000010:0.1:2%i00000 2700
010000000000002,0000000000 sin(zx), cos(z)
gbbuogbbuobobooooobboobbuoobboooo
000000000000 MATLABOODOODODODOD
100000

ggobobbbbbodoooobobobbooag,bbbodago
gooo.

000000000 plot(z,y)0 20000 (z,4,)00000000
2000000000000000000000000 20000y
O0000O0O0Figuwed00O000O000O0000O

cdf00D000 FigwreOOODOOOOODOODOODO
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5.1.3 U040
gboobgobooboobobbod

08 -

0.6

_________________________

04 -

02+

0k

-02 |

-04 -

-06 -

-0.8 -

-1 I I I I I
-15 -1 -05 0 05 1 1.5

0 5.2 f(z,y)=2>+zy+2y*—1=000.

052000000 f(r,y) =0000000002x000y(x)0000
g00obO00ObOO0DbOobOO0bOU0oO0bO0obOobDOobUOOoDbOobOobODOo
0000000000 00oooooon

f=0Q(xy) x.” 2+ xFy4+2%y." 2- 1
O0xyOOOOOOOOO {00000 0anonymous function O O O
ooood

fimplicit(f,[-1.5 1.5 -1.0 1.0])
0000000 f(e,y)=0000000 (z,y) D000 —1.5 <z < 1.5
-1.0<y<10000000

5.1.4 3000000

30000000000000000000000000000000
5.300

plot3(z,y,2)0 30000000 (z,y:,2) 0000000000000
0000000000000 0000000000000000000
000300000000000000000000000000000
0000000
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______________________

1 >> 7 = 0:pi/50:10%pi;
i >> sz =z.%sin(z);
| >> ¢z = 2.%c0s(2);

i >> plot3(sz,cz,z)

gsd 000

0 53:3000000000000 axsin(z), z+cos(z) D00 .

5.2 OOOOOOOO

ggobobbobbotuoduooooobbbobbbodoooogoon

goooon

gbogboboobuoggbuogoboobboboba,obbobboob
gogoobbobbbooogoogobboobobboddooooon
gogogbobbbbboooooooobbbobbbotboduooooon

gobobuoooobbbuoooobobooboagn

5.2.1 UU0UObOOUOOoOOUOUbObboOogo

oogno
y = logx
O
T =expy
O0oobooobooboon
lim logx = —o0, lim logz = +o00
z—0+4 T—00

o000ooO0obD0obOOoboobobDg o, p>000000

lim z%logz , lim z Plogx
rz—0+ T—00

gobbboooboobbboooobbodao



52, ODOOODOOODO 27
000 limg oy 2z®loge 00000 t=2*0000
1
x%logx = —tlogt
«
O00z~0+00¢t~04+00000¢t=2""0000
1
rPlogx = —=tlogt

B

000z ~—+0c00t~04+000000lim, 0, 2%logz 0000000
lim, oz Plogz 000000t —0+00 tlogt 0000000000
00000000000 5400

0.8

0 5.4: tlogt.

vu=logtOOOO t=e*0000O
tlogt = ue"

000z = 0+, (t— 0+)000 2 - o0, (t— 0+4)000000
u—-c00000000e00vw0000000000000000

lim we" =0
U—r—00

0000000 A>000000

lim z%logz =0, lim 2 Plogz =0
z—0+ T—00



28 Os50 000

0000000000 000Od0 |lege|l00x—0+0 2000000
goboobobdbdbdiidr —-+oold 000000 OO0O0OOO
ggboboogoobo
gbooboboboboboboooooboboboboboboobb
gobbbuooobboboooobbobuooobobboooon

5.2.2 UUO0OOOOOOOOOOO

gbodgbobodbobobobooboboobooboboobob
gbobobooboboboobobubobdbOdd Weierstrass

o0

3
RN n bn O<a<1,b000,ab>1
flx Za cos( ;o ( a ,a +2)

n=0

0000000000000D0000000000000000000
0000000000000000
00000000000000000000|a"cos (b"z)| < |al”, |a| < 1
00000000000000000000000000000000
00000D00000000000
00000000000000000000000000000000
000000D0000000000000000000000 5500

lll\ ) lll

mn m m' " U Il‘l

onen ” ooy ,hu !"\ 1' i \'Hl |
| plotlta); Lol ‘ |[' H' w 1|

|
1b=13.0; P2,
! t=[-pi/2*1:pi/10000.0:pi/2*1];
I x1=cos(t);

2r
E x2=x1+cos(13*t); i
| X3=x2+cos(13/2*t) V15 } ‘
|
\

o

i plot(t,x1);grid on !
! hold on voIr
I plot(t,x2);grid on i
! hold on

! hold on

\
! } } ‘ ‘ | “\
Ex=zeros(l,nume|(t)); 5705 L ‘ U ‘ ‘
1 for n=0:1:100 !
x=x+ a*n*cos(bAn*t); H [ l
I end

' 1
E plot(t,x) E 15k

0 55: 00000000000 (a=0.5,b=13).
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el UOUOOOOOONO

MATLABOOOOOODOOODOOODOOODOOODOOODOOODOOD
gogoobbobboodoooooobbobobbbodoooooon
gogogoobobbobobbbotoddddooooooooobooon
ggoobbbobbbuoooooooobbbboodoooogoon
gobbboooobobooood

6.1 UDOOOOO0OOO

gbbod0serptdobogbbodb oboboobboon
gogogoobbbobobobbbobtdudoooooouoooooon
gogbbbuoooobbboooobbbaon
gbogoboobobobuooboobuogobobbobbobbon
O000booboobDobooboobob0bUeompiled 0000000
gogobobbobbotooooooobobbobbbodgooooon
OOO0O0OO0OOMATLABOOOOOOODOOOOOOOODOOOOO
goooobod

gogbbbuoooobbboooobbbdaon

1. 0[000]00000 [boooOo0o0)oDooo0ooooood
gbbogbbuoobboobobobooobbooobooboo
gobooboogo

2. 00b00boboboobbobboobboobooobboon
goboobbooodobbbooaobo

3. J0000O0o0oUUooooooooUoopbo)oooooooo
goboboooogog
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.0000|0D0D0000000000000000000000d

gboobgoboobobobobboboobon

.ogoobooboboooboboobboobobooobo.mbObOO0

OUob0oobo0oboOoOobooboOobooOnoOUntitledm OO0
gboooobobo
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70 OO

gobboodbobuogobobbooobbooooooobooonbo
ggbbobuoooobbbouoooobbbooobbobooody

71 OO00o0oooogon

7.1.1 OO00ooddooooooon

0000 g(z,y) =000000 f(z,y) 00000000 (a,6) 0000
000000000000000000000000 A O0000000
0000000000000

0000000 (a,b)0 0g/0x #00 dg/0y 00000

OF 9F OF

000 A=00000000000 (e,b)0000O0O0O.

7.1.2 00000000

oooo
fla,y) = (z+y) (7.2a)
glzy) = 2 +y* =1 (7.2b)

00000000 g(z,y)=00000 f(z,y)00OOOO0OOODO
0oo

F(I,y,)\):f(l‘,y>—)\g<l’,y) (73)
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gobbboooobbobuoooobboood

(I1-=Nzx+y=0
r+(1-Ny=0
2?4yt =1

g7hb o0obd

(7.4a)
(7.4Db)
(7.4c)

goboobobbooobooboa=20000000000 X 00000
gooobooboobooobo

A=2000
A=0000

x:y—iT,
wz—y:i\}i,

7.1.3 MATLABOOO

OO0 MATLABOODOOOODOOOODO 710

i syms xy lambda f(x,y) g(xy) real

% maxmize

Hxy) = (xHy)"2;

% subject to

fglxy) =xr2+yAr2-1;
L(x,y,lambda) = f - lambda*g
eqnl = diff(L,x) == 0;

eqn2 =diff(L,y) == 0;

eqn3 = diff(L,lambda) == 0;

ss = solve([egnl,eqn2,eqn3],[x,y,lambdal);

{ss.x
{ssy
{ ss.lambda
| f(ss.x,55.y)

P = i
i table(double(ss.x), double%ss .y),double(ss. Ia

i mbda),double(f(ss.x,ss.y))

T Properties VariableNames =
X'y, 'lambda’,'f'}

‘ ‘ >> LagrangeMultiplier
i1 L(x, y, lambda) =

P (x+y)A2 - lambda*(xA2 + yA2 - 1)
! lans=

Hoan/2)/2

P 2n/2)/2
Pi-28(1/2)/2
PEo2M1/2)/2

Lans =

Pi2n(1/2)/2
N

27M1/2)/2
3 21(1/2)/2

[
iians=
"

I
SN

(7.5a)
(7.5b)

~ =

| ‘ 4 X 4 table

X y lambda f

0.70711 -0.70711

o 0o 0

i1 -0.70711 070711 0 0 !

i1 -0.70711 -0.70711 2 2 |
: 2 2

0.70711 0.70711

0 7.1: Lagrange 0 0 000 0(0)0000000000(00(0000

ERERE

e OODOIODDODODDODOOO



7.2.

goooo 35

ss=---000solve OO ODOOOOOOO0OO eqnieqn3 OO0 =
QyOambdaOODOO0OO0O0O0O0OO00O0OOONO ss.x, ss.y, ss.lambda
0000000000 ss00oooooooooooooonog
gooooon

00000000000 ssxss.ysslambdaOO0O0OOOOOOOf
000000O000o0oooooooobogobOog 400 ans=---
oooooOo

double(ss.x) 00000000000 OOODODOOdoubled 00O
00 T=table(---)0 table TOOOODOOODOOOOCOOOOOO
gooooboogn

T.Properties. VariableNames = {'z’./ ¢/, lambda’,’ f’} 0 O Otable O
0000 VariableNames OO0 O O0OOOO0OOOOtable DO OO0
gdodododooouoouoooo

7.2 QJUooon

ggoobbbobbotuodoooooobbbbbbotoduooogon
gogoobbobbboboodgooooooboboobotbdooooon
ggbbobuogoobbboogoog

721 0O0OO0OO0OO0OOO

gbodgbooboobooboboboboobuoobuooboobon
0000000000000 0oOo0OoooooonO 20 o1(=0),z2(>0)
gogboboboogobboboooon

a11T1 + a1229 S bl, (76&)

a91T1 + g2z < by (7.6b)

00002000000 (,22) 00000000000

171 + CoTs (7.7)

gbooobgobobbdb 1,z 000000000
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gogobobbobbbouooooooobbboobbodoooooon
000000000000 000000000 (x,22) 00000000
ggbbooboogooboodan

722 0OJUOOOOOOOOOOO

[0om

dr+2y <30, z+3y<1400000000

0000 f(z,y)=-5r—4y 00000000 7.2)0

(000

00 4242y <30, z+3y < 140000000000f(z,y) = —br—4y =
00 0000000000000000000000000000000
720000000000000

6l

Y

-2p ‘ ‘ ‘ -
2 4 6 8 x 10

072 0000000000000 45 +2y <30, 243y <1400
000000 f(z,y) =-5r—4y00000000000000000
0000000000000000 f(z,y) = —30,-207/5,—50 000
O0z=31/5 y=13/50000 a=-207/500000000000
000000000000000 00000000000000000

7.2.3 MATLABOOO

MATLABOOOOOOODOOOO linprog(f,A,0) 00000000
00000 ADDDOD /0000000000 7.30.
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e r = linprog(f,A,b) O {Az}, <b, (i=1,2)0000000F-
0000000020000

e JUOOOU

A:(f g), b:(?i), f:<—5—4> (7.8)

ggooodgd

e SOl=f*x 00, 000000000 «000000000D0O0O0

i >> LinearProgramProb1

19%Ax ¥le b ( Constraint Conditions)  Optimal solution found.

% x is the point of the solution

| A=[4 2;1 3]; b=[30;14];f=[-5 -4]; !
1 Sol=f*x % Answer E

 %0primization of f*x | X =6 5000
| | 2.6000
'x=linprog(f,A,b) 'Sol =

! | -41.4000

073000000000

73 Uuuoogd

ggoobbbbbuoodooooobobbbbboodooooogoon
gogboboboooobbbuoooobbobooooboooan

73.1 UU0UUOOooooooon

[DO0mMx>0,0>000000
00001<2?24+¢y?<20000
0000 f(z,y) =2*+y 0000000

0000000000000002>0,0 >0000001<a22+42<2
00000000000000 f(r,y)=2*+y=c0100000000 ¢
0000000000000000 7.4)0



38 Ov0 000

L - L L - L T L T L T L - |
-3 -2 -1 0 1 2 X 3

074:000000000000000000000000000000
00000000 f(r,y)=e00000000a=3, 9/4, 1, 0) 000
00000000000 2=+v7/2, y=1/2000000 (a=9/4)0
00000000000 f(V7/2,1/2)=9/40000

7.3.2 MATLABOOO

https://jp.mathworks.com/help/optim/ug/nonlinear-equality-and-inequality-
constraints.html 000000000

OO0 100000 0000 objlunm DO ODOOODOODOOOOODOODODO
gbbogboogobdooooobobbooboobobuooboo
gobbbuodtdtdz0y0000 2200 100 200000000

0020000000000000 confunm 0000000000000
00000002(1)°2+2(2)"2—20—2(1)"2— 2(2)"2+ 10 —z(1)0
—z(2) 00000000000000

003000000000000000000000000000000x0
0x(1),x(2) 000000000
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| %Program  objfun.m
1 % Step 1

| function f = objfun(x)
= x(1)72 x(2) ;

| %options = optimoptions(SolverName,Name,Value) [&. !

1 1

1 1

1

1x0=[0.1,0.1]; % Make a starting guess at the solution i '
1

1 1

1 1

1 1

1 1

I o O = ! .

1 %R AT E /ST A—A—SolverNameZ 5 FE EValue[ZKYZEE | | %Program !

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

1 1

E options = optimoptions(@fmincon,'Algorithm’,'sqp');

i L. optionsZiR Y. ! %Step 2
E [x,fval] = ... 1 function [c, ceq] = confun(x)
E fmincon(@objfun,x0,[1,[L,[L[1,[1,[1,@confun,options);

VRITRD 3 DULDEYARIE, BEDITURERDIT

1 % Nonlinear inequality constraints

1 €= [X(1)A2+x(2)22-2 ; -x(1)A2-x(2)"2+1 ; -x(1); -x(2)];
i % = fmincon(fun,x0,A,b,Aeq,beq,lb,ub,nonlcon,options)
| %IRRT BT I fE .
1

| >> NonLinearProgramProb2
| <stopping criteria details>

1 1

1 1

1

''x i 1 :
: | X= 1
1 fval "1 13229 0.5000 i
1 Sol=fval; ! fval = !
] 11 -2.2500 '

075 0000000000Omain0000000 Mobjfun.mO confun.m
O0000o0ooDbobooooo

00 0000z =1.32290 =+/7/20 y = 0.50000 =1/20000000
0 —2.25000 =-9/40000000



40

80 OO

00000OMATLAB O Statistics and Machine Learning Toolbox [0 O O
Oo0oDoOooo0oobboOoooooo

8.1 UUOUOUOOOOON

8.1.1 U000

000b000bo0o00oo0ooooobUl ExeelDOODOODODODODO
gooon

0000000 Jap-Math-Scixslx 00 810 000000000000
00000000000 00D000000 30 numberDDOOOOOONO
40 sexOODOODOD0O 50 JapAODODODOOO 70 MathAO OO
oooooot
goggoobobbbbobobbobbbbldesvUOboouonooooo
readmatrix(filename) 0 0 0 0 00O

number sex JapA JapB MathA MathB SciA SciB SciC
27 33 9 16
26 20 5 7
27 29 12 19
22 14 2 17
27 31 8 16

2015
2015
2015
2015
2015

10

13
12
10

— N e W
oW N e
N =N NN
0 N~~~
o oo W o

Ugl:0buogggooooogaoon

0000000000000 00000000000O000000O0000000
gboooobooboooooboooobooboooobobooooobooonoo



81. ODOODOO0ODOO

8.1.2 U0OOOOOOOO

41

gbboooboooboobbooboooboobboobooon

gobobooggboon

8.1.2.1 00O

histogram OO0 DO OO0D0O0O0OO0OO0ODOOOOOOODOOOOOOODOO

goooon

| ds=xIsread('Jap-Math-Sci.xIsx');
| histogram(ds(:,5));%Score of Jap.
hold on

@2
2

histogram(ds(:,7));%Score of Math. 3 I
' hold off Pl

ixlabel('Score') z
ylabel('Number of Students')

| legend('Mathematics','Japanese')

0 82: 0000000

e ds=xlsread(‘filename’) 0 0 0 O Excel 00 OO filename 00 000
00000000000 DO0O0O00ODOO0O0O000OOoOoOooO [ds,

headertext] = xlsread(‘filename’) 00 0 0O

e IO DOOODDOOODOODODO histogram O 20000000
O MathAQO JapAOOOODOOOOODOOOODOOOODODOO

gogooon

e holdon DODODOODODOO histogram DO OOOOODOODOOONO

gogg
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8.1.2.2 00O

ggn 0o

gboobobobobbi1ooobdxbooboo20b0b0oybgD

gooooooobon
scatter(x,y)

gbobboobboboobuooobbuobbdegroupbidnognd

goooodgo
gscatter(x,y,group)
gooooon 8300

ds=xIsread('Jap-Math-Sci.xlsx'); *

gscatter(ds(:,3),ds(:,5),ds(:,4),... a0l

'br',".",20,'off','Number','Score')
hold on
gscatter(ds(:,3),ds(:,7),ds(:,4),'br','x',10,'off')
hold off

Score

legend('Location','northeastoutside’) 5y

legend('Japanese 1','Japanese 2',...
'Mathematics 1','Mathematics 2')

10+

5

0

25

20 -

Japanese 1
Japanese 2
Mathematics 1
Mathematics 2

o

100

083 0000000

200

Number

400 500

gobbobuoooobbboodbbbddgscatterD oo

e gscatter(x,y,group) 0 group 0 0000000000 OODOOOO
O0x,yOOODODODODODODODODOOOOOOdssexOOOO 40
go0o01io2000000000000

e legcend 00D O0ODODOOOOOODODOODOODOO

o [l ...000O0ODLDLOODLLOUOUDLDLOLUOUODLDUOUODLDLOOO

gooon
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___________________________________________________________

______________________________________

1.0000 0.6607
0.6607 1.0000

ids=dataset('x|sﬁ|e', 'Jap-Math-Sci.xIsx'); 1 |>> Stat |
' mMathA=mean(ds.MathA) i i mMathA = !
| sigMathA=std(ds.MathA) ;1 23.0100 :
' i1 sigMathA = !
1 mJapA=mean(ds.JapA) L 64812 !
isigJapA=std(ds.JapA) i i mJapA = !
' cor=corrcoef(ds.MathA, ds.JapA) i 1 24.8377 i
: 1 'siglapA = !
: |1 4.4945 |

0 84: 00 mean UO0O0OO stdJOOOOOOOO corrcoefd 00O
ooooooooag

82 [UOOUOOOOO

ggoobbbobbbbobodooooobbbbbbobooooogoon
Uboo0oo0obOobOo84pbbD 00O xlsreaed 000 OO ODOO dataset
gooboboboobooboboobob’obobooboboobobgoonoog
ggbooboggod

8.3 ULOHOO

O000000o0ooooooooboobooooogdMathAO JapAOO
gbooecboooboobboobboooboobobooboon
gbbooboooboobboooboobboobooboboonbn
O000000obODoOoCOo0OOObObOOoOoOoOouoooooMathAO JapA
gboboodob 00y00000000D0DOO0O0O0ODOO0O0O0D
googoobobod 8500

e scatter 00000 MathA, ODO0O JapADOOOODOOOOOOO
gbooobogooog

e Sline0 000000 ODOODOOOOOODOODOODODOO



gsg OO

fds:dataset('xlsﬁle', 'Jap-Math-Sci.xIsx'); f

fscatter(ds.MathA,ds.JapA,'r','o',‘ﬁlled') f o 0 000000000
L]

th=lsline; owr
i xlabel('Mathematics')

Eylabel('Japanese') E BT
sset(h,'linewidth',Z,'color‘,'bl'); §
E polyfit(ds.MathA,ds.JapA,1) E K 20f °

.................... L ) e oo L
1 e o000 o o L] [ )
i 15 [ o o o L]
yans = ° °
0.4581 14.2959 . %
o o
e 10 ‘ ‘ ‘ ‘ ‘ ‘ ‘
o 5 10 15 20 25 30 35

Mathematics

O g8s o0bobobobooboon

e polyfit 0D ODOOODOODOODOOODOOODOOODOODOOODOO
O00n=10000000000000JapA =0.4581+«MathA+
1429590000

e IO DOOLOOODLOUOLODLOUOLDDOUOODLDDLOUOODLDDLOOO
gbbuoboogboogboboobboobbuoobbuoobo
gobbgoobbooobbooobbooobbbooobboo
gobobooogn
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9.1

9.1.1

Joooooood

goobooo

gobooo

1 syms y(x);Dy=diff(y)

| eqn=diff(y,x,2)+4*diff(y,x,1)+4*y
| cond1=y(0)==0.5;cond2=Dy(0)==4.0
1

1 conds=[cond1 cond2]

1

! ySol(x)=dsolve(eqgn,conds)
1 x=0:0.05:5

! plot(x,ySol(x))

Exlabel(‘x')
1ylabel('y(x)')

1 title('Plot of D2(y)+4D(y)+4y,...

E_V(O)=0-5. D(y(0))=4.0')

inoI(x) =

syms Uy, Dy 0000 o0oooooood

y(0) = 0.5,
000000000000000000000000 9.100

Jooooboboogoon

y//+4y/+4yzo

y =4.0

Plot of D2(y)+4D(y)+4y, y(0)=0.5, D(y(0))=4.0

0910000000

equ=--- JO0O0O0o0oooon

45



46 0o Doodn

e 00 condl,cond2 0O O0OOOOOOOOODODO conds=--- O
ooooooood

e dsolve(eqn,conds) MO0 conds 00000000 eqn= 000
00000000000 00000 ySol(x) = exp(—2*x)/2+ 5
zxexp(—2x2)0000y(z) =4e > +bxe”>*000000000
gooooon

e x=0:0.05:500 000 5000060000000 OOOODODOO
god

9.1.2 JOO0OOOOOOOO

oooo
y'+4y +dy =0

00400 RungeD KuttaOD OO DO OOO ODE4SOOOOODOOODOO
O0DD0O0O00ODOOCODED 1000C0ODODbObOOO0OoOo0o0ooOog 9.2
ODECCOO0OO0OO0OO0OO0OO0 *mUIOOOOODOODODODODODODOODOOOOO
gogbobobodogno

' [t,y] = 0ded5(@deq1,[0 51,[0.5, 41);
i p|0t(t,y(I,l),'-O',t,y(:,Z),I-O')
i xlabel('Time t');

Plot of D2(y)+4D(y)+4y,y(0)=0.5, D(y(0))=4.0

1 ylabel('Solution y');
1

| xlabel('x")

v(x)

! ylabel('y(x)')

' title('Plot of D2(y)+4D(y)+4y,y(0)=0.5,

1 legend('y_1','y_2") E
1 D(y(0))=4.0") !

i function dydt = deq1l(t,y) !
1 %function of DiffEqSymbEx1p.m '
L dydt = [y(2); -4*y(2)-4*y(1)]; |

092 00000000000 0oded5 000 O0OOODOODOODOO
O00000deql mO0O0onnd



92. 000O0OODOOO0O0OO A7
0000000000000 100000000000000

y/l = Y2,

Yy = —dys —4yr .

e JOODOODOOODOODOOOODUODODO deql mOODOOOO
goboooo200dn

e JODDOD y(;,1)dyOy(:,2) Oy 0000

e JJUDUODE4DODODOOODO (05400000

9.2 UOOUOOOOUOoOO

9.21 U0O0OOLOOOOOOOOOOO

00000y = f(z,y) 00000 f(z,y)0 2,y0 ‘0000 1000°0
00000000000000000000000000000000
000000000000000000000000000000000

1 syms y(x);Dy=diff(y) ! ! ySol(x) = !
+ eqn=diff(y,x, 1)-3*yA(2/3) | i 0 i
!'ySol(x)=dsolve(eqn) ' E (C4 +3*x)73/27 i

_________________________________________________

_______________________________

1

'

i yc=(x-c).”3
1 plot(x,yc)
i holdon
1
1
1

1 hold on
ylim([-20 20])
' xlabel('x')

1 ylabel('y(x))

! title('Plot of D2(y)+4D(y)+4y, y(0)=0.5,
| D(y(0))=4.0)

__-__-_-_-__-_y(_)-__-_-_-__-__-_
-

goobooo
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00000000000 9300%?0y000000000
e 100020000 ySol(x) DOODOODOODO

e 1000000000000 y@®) =(@—c?0c=-1500 150
00000 02000000000

e OUUOOO0ODLDDODOUOOOLODODOIDUOOy=0000
gooooboboo

9.22 [J0OOOOOOOO

000000000000000000000000000000
1
y:y%+1w¥
00000000000 9400000000000000 200000

ssymsy(x);Dy=diffly)  :  iySoi(x) = ;
leqn=y(x)-Dy*x-Dy"2/4 | 1 ap |
' ySol(x)=dsolve(eqn) i i CAN2/4 + x*Ch i

'x=-1.5:0.05:1.5;
i for c=-3:0.2:3
yc=c.*x+c.A2/4;
plot(x,yc);

hold on

end

! Cx+C?/4 (C=1, 4, -4, -8) and Singular Solution y=-x
1 T T
1
1
1
1
I
1
1
1
1
1
|
. 1
rylim manual I
1
1
1
I
1
1
1
1
1
1
I
1
1
1
1

2

15

1

05 -

1 y0=-x."2;

! plot(x,y0);
i hold on
ylim([-2 2))
i xlabel('x')
1ylabel('y')

_________________________

-05 |

094 000000000.

00000000000000000000000 y(z) = cx + (1/4)c?
Ue=-=-3003000000o0200000000000000000
0000000000000 y=—-220000000000
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100 oo dan

10.1 OO0OOO0OO0OO

gbogboooboobodbuoobuooboobooboboobobbon
gobbuoogbbbooobobbuoobbooobobobooobban

10.1.1 OO0OO0O0OO0O0O0

[~a,a) 00000000 f(z) 03000000

nww
E . COS —— + b, sin ——
—|— 4y COS = + b, sin )

goooooooo ooboboobooooboboooogon a,b, 0O
gobbobooood

1 a

ap = — f()costx , n=0,1,2,...
a)_, a
1 a

b=~ [ flo)sin"lx . n=1,2,3....
a)_, a

10.1.2 0OOO0O0OO

gogbbbooodgbbob

-1 < <0
1 0z <

godbbbbz 00000000 smdobbooogn

1 s 0
an, = —[/ Cosna:dm—/ cosn:rd:v}zo, n=0,1,2...
T 0 —T
2 [T 21— (—=1)”
b, = —/ sin nxdxr = #, n=12...
T Jo T n



20 g100 O0O00boobdo

ggoouobooobbbuoooooogadg
= sin(2n + 1)z

fla)~ Sy == 3 B

goooon
0000000 »=00000 0000000O0O00ODO f(0)=-100
gboobgoboobon

5(0) = 3{F(0) + F0)} # £(0)

000000000 f(z)=S(@) =---000000f(z) ~ S() =---
0000000
000000000 8@ 00z=c0 f(z)000000000000C
f()00D0000 ¢0000000000 0000000000

S(e) = 5 {fe+0) + (e~ 0)}

000000000000000000D00000 (Dirichlet)DOOO
gooon

10.1.3 MATLABUOOU

1 t=[-pi:0.01:pil;
i x=zeros(1,numel(t)); i
i for n=1:2:3

x=x+ sin(n*t)/n*4/pi; E
end E
i plot(t,x);grid on 051
hold on
for n=5:2:10 i
i x=x+sin(n*t)/n*4/pi; | o
end
plot(t,x);grid on
i hold on 105
for n=11:2:60 !

x=x+ sin(n*t)/n*4/pi; |
, end E
' plot(t,x);grid on i

I I I I I I I
-4 -3 -2 -1 0 1 2 3 4

0 10.1: 000 Sy(z) =43y ®&tlen NOopooooo.
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g 1010000

N .
4 sin(2n + 1)z
S =—) —
v(z) ”nzl 2n+ 1
gooon
r=0000 00000000 0OO0ODOO0ODODDO0OOODLOOOODO
goooooobobooooag.
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0110 0ottt dn

g3boogoboboboboobooobuoobboobobooboon
ggbbobuogboooobbboooobbobogo
ggoobobobbobotboooooooboboboobobbbodoooooon
gogoobbbobbbbooooooobobbobbbbduoooogoon
gobooboooooobobbobogbboobbuooboooobboo
godgooboooooboobbbbobbbbbbduoooooon
gogbbobuoooobboooobbbuooono

11.1 OO0oooogg

11.1.1 000004

gogoobobbobbbobbodoooooobbbbodoooooon
ggbbbuooodobbbuoooboooobbbodad

Ax =0

O0bO00oDoO0o0ooobbooggAOnxnO0O0x, b0 n0OO00OD00OO
gobboobouoodobo

MATLABODOODOODODAD nxnO0O,b0n00000000OO
gogooooooobon
O x=A\b

OO0000OO0OMATLABOOODOODOODODOODODOODODODODOODOOO
0000000000 0DO0O0ODO0OOOODOOOMATLABODOOO
AODODOO0OO0ODOOODODOOODOOLUODOOODOODOOO00OO0
gooooooood
http://matlab.izmiran.ru/help/techdoc/ref/mldivide.html



o4 U110 oogbobdo

OMATLABOOOUODOOODOODOODOOOFortran OOOOOODO
0000000000000 LAPACKOOODODOOODODODOMm

11.1.2 0OO0O0OO0OO0
11.1.2.1 000 -000O0obobOooogn

gogobbobbobouooooobbb -ooobbbbodooogoon
goboboooooon

e [Stepl]UnxnO0 AD0D0DOOOOOObBO
[A ]
0000 n0n+100nx(n+1)0000000

e [Step2] 000000 DDD0O0O00OO0O0ONONONOOOOO0DN
0MOoO000o00 [Ab) 0

[E ]

O0000oO0bDOb0EDrxnO0O0O0OO0ODObBOOODOODO
gbbodobuoobbdtde«0dbbooudboobbuoaboo
gobbboooggbboboooobood

e (000]000DODODODODOUOLORX*OODOODODODO
gbooboboobooboboobobuodbnbO0OD 100000
gobobobbobilooobnbbOobbobobbbbooouaggo
gobbooodgboo

Ul11iggobooobooobooobbooobboobobobob
0A0QC0O0OOCO0OOCO0ODOO0ODOO0ODOOODOOODOODOOOn rref
gddddboooooooooboobbobbbbbbboobobn
gobboboooobobobooogd



11.1. ODDOoogooo 95

0.7500 -0.5000 0.2500
-0.5000 1.0000 -0.5000 .
0.2500 -0.5000 0.7500 |

1.0000 O 0 0.7500 -0.5000 0.2500
0 1.0000 0O -0.5000 1.0000 -0.5000
0 0 1.0000 0.2500 -0.5000 0.7500

B=[210100;121010;012001] I>> A=[210;121;012] !
B= 1A= !
210100 210 |
12 01 !

1 2 1 0 1 0 L0 1 o 5
01 2 0 0 1 '>> inv(A) i
1ans = i

| >> R=rref(B)

U 11.1: ggd -gboboooobob

11.1.2.2 LU OO

AOODOOOO LODOODOObOUOUOO

1 0 ce 0 Uyl Uiz Ulp
A= LU — 21 22 2
lnl e lnn—l 1 0 0 ot Unpn

000000 LUO00000000000000000000000
0oooo
D00000AD0OODOOOOOOD00000000000000
00000-000000000000000000000000000
D00ADDDDOO0O0O0O000000000000000000000
LUO00D0000LO000U0000000000000000000
D000 A000OOO0OD0O0O0O0O0O0O0O0O0000 (000002000
0000000000000000
LUODO0O000112000000LU0000000000000 OO
0D0000000[LUP =lu(A)D00L¥U=P*A00000000 UD
000000000000 LOO0000000 POOOOOO



o6 U110 oogbobdo

___________________________

1 >> [L,U,P]=Iu(A)

r Vv

R S T TIPS | 10000 0 O
0.5000 1.0000 O

‘A= 8 5
. B . 1. !
1 i 0 06667 10000
! BE '
10201 o |
! 'l 2.0000 1.0000 0 :
L0 01 2 X !
| i1 0 1.5000 1.0000
besesseeseeseseoeeee-ib Q0 00 13333
P = |
' 1.0 0 |
0 1 0 |
. 0 0 1 |
0 11.2: LUODO

11.1.2.3 000O0OOOCholesky O O

00 AD0DD000000000000000A0O0OOOOUDUOO
0000000 00000000000000000000000—00
0000000000000000A00000O0OOO0O0O0O0 LUOO
0000000000000000 U=chol(A) OO0 U=chol(A, upper’)
00000000000000000

A=U%xU

(0000 .00ooooooD 000 Toooooooooooo
O0MO0000000000000 L=chol(Alower’) 000 O M

A=LxL'

11.1.2.4 0O0000OSchurd OO

O0O0n00000 ADDOODOOOOOODOOODO

A=UTU" .



112, ODDOOOO o7

e - i
A= L 1A= |
112 3 L1023 !
405 1 | 451 i
203 4 L 2.3 4 |
I >> rank(A) i i >> [U,T]=schur(A) E
ians= ! E = !
;3 | | 04233 0.8063 -0.4131 i
' >> eig(A) |1 06575 -0.5871 -0.4722 |
{ ans = | | 06233 00717 07787 !
| 8.5233 T |
| .0.3255 | | 85233 0.2591 -1.1689 |
| 1.8022 | |0 -03255 27507 i
: D! |

0 0 1.8022

0 113: 000000000000

Uvo0o0000007roo0o0o0o0o0ooo0 A0DOOO AL g, y)
gbooboou*brvobobobooboobooobobuooooon
schur 0 OO0 11.300

11.1.2.5 0000000000 Schur0dO

AODOO0OO0OA*A=AA")DO0OO0OOOODOOOOOODOODOOOOO
gbooobooon 11.40.

A=UDU" .

voooboobOpbO0ODbO0 ADDOUODOODODObDOobDOoOouDOgy
O00ADDOOO NOO0O0O0O0OOCOCODOOOOO

11.2 00000

gogoobobobbbbooooooooboboboobbobudgoooon
AOO0DODOOOOOOOOOODOOODOOODOODOODOODO
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-0.7071 0.7071
0.7071 0.7071

3.0000 1.0000 1.0000 0.0000

0.0000 1.0000

i>>A=[1 3;31] 1 1D= ! 1 >> eig(A) !
A= 1120 ; ans = ;
P13 10 4 | 2 |
31 | 1>> UD*U’ | L4 |
E>> [U,D]=schur(A) | ians= : E>> u'*u |
U= | | 1.0000 3.0000 |  ans = :
: L : : I
, 1 : 1 : :
: : 1 : ! |
| b | | l
1 1 1

0114 00000000000

goboobOoOoDOoOoboOoboboA0OOQOODOODOODOODOODOO
gogoggbobbbtbddodooooooooooobbooon
gogobobbbbbotuodoooooobbbbboodoooogoon
gobboboogooog

11.2.1 0O0O0OO0Ooood
11.2.1.1 OOOO0OOO

AOOOrOmxnO00000D0O0OO0OOOO
A=UXV"

o000 A0DO0ODOO0OD0OODOOOOoODUOmxmobOOoooooove
OnxnOO00O00OO0 VOOOOOOOOOOOYOmxnOOOO
goboobooogbon

Y= (diag<017 T Ur) Or,n—r )

Om_nr Om—r,n—?‘

0000000 A0DO00OOOOO0O0O00X0 (3,)00 ;0 ADOOO
000000000 Odiag(oy,---0,)0 0q,---0, 00000000 rx7r
oobooooooboo,blxkOOOoooooo
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14.2274 0 0
0 12573 0 0

1.0000 2.0000 3.0000 4.0000
5.0000 6.0000 7.0000 8.0000

______________________________________________________________

1 1! 1
I [ I
1

A= | 1 0.3521 -0.7590 -0.4001 -0.3741 |
1

p 12 3 4 | | -0.4436 -0.3212 02546 0.7970 |

1 1 1

' 5 6 7 8 | | -0.5352 0.1165 0.6910 -0.4717 !

[

i>> [U S V]=svd(A) ' 1 0.6268 0.5542 -0.5455 0.0488 |

e L |

1

' -0.3762 0.9266 :

| 1 ________I _________________________

1 -0.9266 -0.3762 L>> UrSHY

:5= i ans =

| |

I 1

1 1

[} 1

1 1

1 1

O 115 00000000

11.2.1.2 QJO00O0DOO0O

[US,V]=svd(A)0DA=USV* 000000000 A0D0O00000
000000 11.500

11.2.2 00000

0D00000000000000A00000000000000000
0D000000000000000000000000000000C
D000000000000000000000000000000C
D000000000000000000000000000000C
0000000000000000000-0000000000000
ADDDOOOD A'0D0000000000000000000

(1) AATA= A

(2) ATAAT = AT

(3) (AA*)* = AAt00000 AA*000000000

(4) (ATA)* = AtADDODOOO ATADDDOOOOOOO

000000 ADODOOOOOODAT=A4"'000000000000
At0 ADDDDOODODODOOOOO
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11.2.2.1 00O0O0O0O000O00ODO

en>m=rdond
A=UXV*

goooogooooooboogouboon
Y = (diag(ol, -+ ,0m) Omn—m)

gooboon
s (diag(l/al, - ,1/am1>)

Onfm,m

0000 A+O
AT =VStyr

gbobodgboboobboobbuoobboobboooboo
gobobobooooood

emm>n=rd00000O0O00O0O0O00O0OO0O0O0OOO0O0OO0O0O0O0O
5 (diagéal,~~an)>

gooobououoboviobuoobooobobooD ug, - Uy,

gooon

u;-u; =9, 4,j=1~m
0o00ooooooooood vy, ,v,
v; v =0, ,j=1~n
gogoooooooooogno
U:(Ul,"'yum)

ggn



C=[12;34 k S>A=[22;11] L IS>(ARBY T '
i C= i A= | ans =

P12 ! 2 2 0.8000 0.4000
3 4 ! 11 0.4000 0.2000

i >> rank(C) i >> rank(A) >> A*B

: ans = : ans = ans =

2 ! 1 0.8000 0.4000

' >> D=pinv(C) I >> B=pinv(A) 0.4000 0.2000

| D= : =

| -2.0000 1.0000 i >> (B*A)'

' 15000 -0.5000 | 0.2000 0.1000 ans =

!> inv(C) i >> A*B*A 0.5000 0.5000

{ ans = ! ans = 0.5000 0.5000

' 20000 1.0000 | 2.0000 2.0000 >> B*A

' 1.5000 -0.5000 1 1.0000 1.0000 ans =

R L E LT EEE >> B¥A*B 0.5000 0.5000
ans = 0.5000 0.5000

________________________________

O 11.6: 00000000

Ub0ddby; 0000000

A = USV* =) o, v
=1
AV = VEtUr =) lfu,. u

7
0’.
=1 °

bdtdbDwv;UmxnO000000000000

A'l)i = 0o;U;
1

A+u,; = —;
0

00d0d00000d0oooooDoooOoOooOo0o00000ooooon
00000000000 0O000000O0o0000ooooon
0000000000 11600000000B =pinv(A) OO0 ADO
Moore-Penrose 0 000000000
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11.3 UO0Ooooogg

O00o00ooO0ooboDoA0OmxpnOODOODODOOODOOrOo0O
gobobooboboogoboood

A=UxVT .

0000000000 U000 VOOO0O00O0mxmOO0Onxn00O
D0000X0mxn000000000;,>0y>--->0,0X000
000000

11.3.1 000004
00 ADDODOO0OOO0OO0ODOO0O0O00OODODODODOODOO
||[Az — b||* = (Az — b)T (Az — b)

goobobbobobbee00DbO0O0000000O0O0O0O0O0O 20000
gbogbbobbobbobbobobobboboobobobon 20
goooogo

O00o0oO0o0OO200000 20

ATAx' = ATb

goood

000000 Az =b00000000000D00O00O0ODODOODOO
O00AOODDOOOD ATO00000O« =AT00000000000
gboobgobo2000000000

11.3.1.1 0000

(1)) ()

gobbobuoggobbodo
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000 ATAz=ATb000000

ATAr = (2 2) (D) = (*) = a7p .
2 2) \ &, 4
0ooooo
o) 1
]\ 1

gogboobobog200000
gboobgoboobobobobboboob 1i7vobobbobo

1 >>A=[11;11] 11>>rank(A) i
101 o1 i
i 1 1 | i >>P =pinv(A)*b |
5> b=[3;1] HE i
b= ' 1.0000 |
3 1 1.0000 |
1 ¥ |

PR SO |

O 1100000000200

11.3.2 00000 (Principal Component Analysis)

gboogboobuoobogbooboobuoobooboobooog
gogoobbbobbouoduoooooobbobobbbduoooooon
gogodgooobobbboobobobbbbbbobbbbiloooon
gooon
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11.3.2.1 00000000000
11.3.2.1.1 0000000

NOOODOOODOOOOOOPOOOOOOO0O0O0O0OOOO00000
00000000000 i(i=1~N)00000000000 {tiu}(a=
1~P)000000000000OND POOOOOOOTOO0O00O0O
00000000

tin tiz -0 ip

tor  tag -+ tap

tn1 tn2 o+ tnp

gooobob pPOOO0ODODOOOODODOOODODOODOO
gboboobobgoobooboobbuoobboobboobboooo
gbobooobobooobboobobbboobbooobbuoobb
googoooo

gobodbodobdboooobodgodbdooooood

ggoogoobobod z,, 0o

N

1
000 O NE:%“:O

m=1

goooon
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11.3.2.1.2 0O0O0OO0OO000O0O0OOU

O-m1x1 O-ac1ac2 e O--Z’IJCP

Q _ 1 XTX _ Ozoxy Oxoxy e U:pgxp
N —1

Oxpzi1 Ozpzo " Ozpzp

ooo0oboOo PxpPOO0OD0ODOODLOOOOOODOODO

N
— 1 —g2 =1
Uzslxsz - N —1 lwmslxmsz ) stlwsl - 0'%1 -
m=

11.3.2.1.3 0O00O0OO0OD0OOO0OOO0

goooon
Y11 Y12 - U1p
V = (1,0, ,0p) = V21 V22 -+ U2p
vpr Up2 -+ Upp
goog

P
Z=XV . (Dna= Vo= Tmsvsa
=1

gbogbooboobooobboobuooboboobboob 1~PO0ODO
gogboboboooobbboooobbboooobobon
goovaog

2
o2 0 - 0
T 0 o2 .- 0
viguevt S v | D7 T =
0 O 0%,

gboooboobooboon

P
QV=VS , Qua=02v,, » 02=P
a=1
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gbooUobOboobobooooobobooboooooboboobgog
gbgobgooboobobbobboboobob
gobboobogobbboooobon

1. QDO0062 (a=1~P)000000000 % =diag(oy, 09, ,0p)
000000 QO00000000000000000000

2. 00 XTX0OOOO0ooOoO
XT'Xv, = MNov,,

00D {3l000000
AM>A > 2> Ap >0
0000000000000 (M\,ve) 00 «00O0O0OO0ODOO
. 0oooooooad
A = diag(h, - Ap)
Uy, = )\iaX'va

U = (’U,l,“‘,’u,p)

00000002 = (N —1)e200

Xv, = AU,

XTu, = Mo,
000D0O0000ooooooooa

4. v, 0000000000000Ow, 00000000000OOUTU =
EFOPxPOODODOODODOO

. uuuoobbbhuoooobbbuoooobo

XV = (lea"' 7XUP):<)\1U'17'” J)\PU'P)
= (ul,u2,~-)A:UA
0on
X =UAV"
JooooooooooXoooooooooooooooooo
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6. 0000 X'XO0XXT0ooooooooo
XT'x = Z/\Z’U’UT,
a=1
P
XXt = Z/\iuuT
a=1
oooooooo

11.3.2.2 00000000

00000 NDODDOOODOOO POODOOOOOOOOOOOOOOXTX
000000000000000000000000000 XTX0OO
gbbodboobbuodobobuodabboobooobbodoboon
ggbbobuooobobboooobobuoooobbooood

11.3.2.2.1 000

gobboodobbbdg bobboobbbooobbuooobbooon
gobbooboodgbbob

0000 (0O0O00XNO000000000XTX00OOOOOOO0OO
gboobgobobbobobooboobuooboobooboobo

_ Ao
Zg:l )\B

gbougboobbudolbgdbooobuobbobbiobidl o
gogboboboooobobobooooboboood

Zgzl Ai
P

Z’y:l )\“/ .

11.3.2.2.2 00000

gogbobbbbuodooooobbbbiuddtd ebbbbooogoon
gddddddooooodoooooooooboboooooon
ggbbobuooogbbboooog
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11.3.2.3 0000000

MATLABOOOOOOOOOD had ODODOOOOOOOOODOO
godouoouooooobbbodbsoooooououoooooon
ingredients 1 0040000004 0000000000000000
goooboooboobuooboorooonoo

7 26 6 60
1 29 15 52
11 56 8 20
11 31 8 47
7 52 6 33
11 55 9 22
T= 3 71 17 6
1 31 22 44
2 54 18 22
21 47 4 26
1 40 23 34
11 66 9 12
10 68 8 12

e JODODODODOODODDDOD tsUU0O0OOO sigt OO UUn

U000 mean, DO O varOO0O4OQgo

ts =mean(T) = 7.4615 48.1538 11.7692 30.0000
sigts = sqrt(var(T)) = 5.8824 155609 6.4051 16.7382

goggoobbbDbDDh zscore UOOODODODODDODOOOOOO
gobbbogobobobooogd

(X, ts, sigts] = zscore(T)

ts,sigts, X OO0 O O0DO0O0O0ODOODO0OOOOO0OOOObOObOODOO
00000+¢00000 7, 000000000000000 XO
O0mean, vard o0 o0oooooooooooooon

XO00OOOOooOQQobooooO N=1300000MATLABO O
goodd

Q=X"xX/12
000000000000 #2000000000 SIGMA20000
O000000a=1~P)000000000 ingredients=1 ~ P
goobooooooobovoboooooo

[V, SIGMA2] = eig(Q) .
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0.2411 0.6755 0.5090 —0.4760
0.6418 —0.3144 —-0.4139 —0.5639

V.= 0.2685 0.6377 —0.6050  0.3941
0.6767 —0.1954  0.4512 0.5479
0.0016 0 0 0
0 0.1866 0 0
SIGMA2 = 0 0 1.5761 0
0 0 0 2.2357

SIGMA20 QUOOD0O0D0O0D0O00OO0O0D0O0OOD 200000
gobobooboubbd e, 0000oggyg

0000000o0o0o00oooDoooooDoogj=1~N)0O0O
oooobooZ=XvOoooooooooooo

e HOUOOODLDLODDODOOOODLDLDDOOOOO

[U1, Lambdal, V1] = svd(X) .

5.1796 0 0 0
0 4.3489 0 0
0 0 1.4964 0
0 0 0 0.1396
0 0 0 0
0 0 0 0
Lambdal = 0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0 0 0 0
0.4760 —0.5090  0.6755 0.2411
V1l = 0.5639 0.4139 —0.3144 0.6418

—0.3941 0.6050 0.6377 0.2685
—0.5479 —0.4512 —0.1954 0.6767

ooovoooovooooooooobooooooo Lambdal O
X0000X000000000XM=(N-1)s20000000
000 Lambdal =+/12x SIGMA20 0000000000000
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0110 00000000
e 0000000000000 000000000000 pcadOD
[COEFF,SCORE, LATENT] = pca(X) .

0000000000000006200000000000000
O0OOUOOCOEFFO Nxp (DODODDODOOODODODOO XOO
0000 (D00OoviOOdSCOREOOOOOOO Z=XxV0OO
LATENTOOOOOO 62 0SIGMA20000000

2.2357
1.5761
0.1866
0.0016

LATENT =
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120 O0OOOOOOO

12,1 OO0OO0OO0OOO

gogoobobobobbbododoooooobbobbobbuooooon
gogbobuooooboobooan:

dz
dt
dy
dt

= x—ay

zyUQUOoOoDooooooobooooboboan
gobb::0gboodao

de da:/dt_x—xy_—lﬂL%
dy — dy/dt  ay—y 1-1

ooo
(x —logz)+ (y —logy) =C
godooboooddez-yd OO
xye V= f=00

gboobooobooboobod
gbbooobuodgboobbibbbd ey ObOo0obuoobooboon
gbbooboooboobbooboobboobboobooon
goooboooboobobobooooboooboobooboDoo’oog
gbomobobbooboobooobooboobobooboon
obooboboobooboo 121000 f=000000000ODODOO
gbooobdg



72 Uui120 00000000

:' [x,y]=meshgrid(0:0.01:3);f=x.*y.*exp(-x-y);
1 [C,h]=contour(x,y,f,5)

i clabel(C,h,'manual’)

i hold on

1 %

i [x,y]=meshgrid(-3:0.1:3);f=x.*y.*exp(-x-y);
i [C,h]=contour(x,y,f,25)

i clabel(C,h,'manual’)

i [C,h]=contour(x,y,f,500)

i clabel(C,h,'manual’)

682¢V8G5 L~

0
295>, o
6

02927596

i hold on

-1.5842289

___________________________________

0 121: 0000000gn

e 0121000z,y>0,z,y<00zy<000000000000
00000000000000000

o [x,y] =meshgrid(---) 00020000 xe-y 00000000 ([O
0ooO0ooo)D

e contour U O OUOOODDOUOOOOOOOOODLDDOODLDDOOOO

eclabel D OODOODOOOODOODOOOOOOO 'manual’ 00
gobboboooobboooobobooon

12.2 OOO0OO0OOOOOO

000000000000 DO00DOO0DO0OOMATLABOOODODOODOOO
gogbooobodoago

12.2.1 00000

gbog12100000000000000000 12.200



122, OD0OOO00O0OO0OO0O0

| ode=@(t,y)dydtO(t,y); % Define the Ord. Diff.Eq.
! [t,y]=odeds(ode, [0,20],[1.0,1.8]); % Solver odeds
1 subplot(2,1,1);plot(t,y(:,1));

1 hold on

! plot(ty(:,2));

E xlabel('t');ylabel('solution x and y');

| txt2=sprintf('%.6f',1.0);

i txt3=sprintf('%.6f',1.8)

1
! title(['Lotka-Volterra equation: Starting Pt yO=(',txt2,", ',txt3,')'])

E legend('x(t)",'y(t)')

| hold off

E subplot(2,1,2);plot(y(:,1),y(:,2));
xlim([0 2.0]);ylim([0 2.0])
xlabel('x(t)');ylabel('y(t)");

hold on

\
038 \

0.6

0.4

title(['Lotka-Volterra equation : Starting Pt yO=(',txt2,", ', txt3,')'])

1 function dydt0 = dydtO(t,y)

i %Lotka?Volterra equation

1 % dy1/dt=y1-y1*y2

i % dy2/dt=y1*y2-y2

E dydtO = [y(1)-y(1)*y(2);y(1)*y(2)-y(2)]

0.5 15 2

1
x(t)

0122 0000000000000000000000

e JI0DIUODUODOUODDOO functiondydto OO OO0ODOOODOO

gobobob1oddg

e 20000000000000000000 ODE45000000
0¢0(0,2000000000000000 2(0) =1.0,5(0) =180

oo

73

e JIDOOD20000000O00O0DOsubplot00OOOOODOOO

subplot(2,1,n) 00 0000000OC 20 10000000000 n

gogbbbuoooobbbuoogoob



74 Uui120 00000000

o txt2=sprintf(---), txt3=sprintf(--- ) 0000000000000
OO00oo0ooDoOo. sprintf 00O OOOOOOOCOOOOODOOO
gogooooo

e 01000 2(t),y()000¢t000000002000 (2(2),y(t))
00000000000 2,y>0000000000000000
000000000000000000000000000000
000000000000000000

e xU00D00=0000000000000DLy0O0ODOOOO0DOODO
godobobogbboobbudybboobouobboood
000000000000 oboboobbbobbboooooon
gooo
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130 oo

13.1 UOO0O00on

gboogbooobooboobobobobobbbobbobobobobon
oo oon
gogoboboobboodooooooooboobobboodoooooon
ggbooobooggo

13.1.1 0OU0bbooooooobuoooobbod

00 f(x) 0000000000000 0OODOOOOOOOOOOOO
000000[0,2) 0000000000 2000000000000
gobbbuooobbbooodgbobbod

o0

flx) = Z cpel e

n=—oo

Cn = / f(z)e ™ o dx

2a
onooooog
00 [0,2a] O
0 = o<t <z9<...<2xN_1 < TN = 2a,
T = % (k=0,1,...,N—1), 51{::%&

oo NOOoboobobbooboob e, 0000D000DO0ODO



13.1. ODooogn 77

ooooooo
211
W = exp——
pN’
fk = f(xk),k:0,1,2...,N—1
=
= w2 @™ =012 N-1

DDDDDDDD{f{),fl,fN_l}DD {Co,Cl,...,CN_l}DDDDD O
0000000 00000000000 (Doooooooo)o

N-1

fo=_ cu™ (k=0,1,2,...,N —1)

n=0

udbbblbwdddbee oobnbO

N—-1 1 N-1 N-1 1 N-1 1 — N G—k")
nk _ * n(k—k") _ + —
i = 3 S 3 = 5 S e e
n=0 E=0  n=0 E'=0
(K'#k)

D00wO 10 NOO (wW¥N=1)0000000100 0000000
000 f,=---0000000000000000000

000000 (0)000000000000000000.0 A00C
0D000N-1000000000N2000000000000000
(000000 N*OO000 N(N-2)0)00000 NOODODOOOOo
00000000000000NDO30000000000000000
0000000000000000000000000000000C
0 (FFT=Fast Fourier Transform) 00 000000000000000
0000000000
MATLABOOOOOOOOOOO0000O0O00000000000000
000000000000

13.1.2 0O0OO0O0OOOOOMATLABOOOO

Yy =fit(X) 000000000 (FFT) 000000000000X O
00000000 (DFT)000000.
00000000000000000000000000 13.100
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Fs=1000; % Sampling frequency b ‘ ‘ __ Signal + Random Noise
E T=1/Fs; % Sampling period ok
| L=1500; % Length of signal oL
Et:(O:L-l)*T; % Time s of
E Signal = 0.5*sin(2*pi*50*t) + 1.0*sin(2*pi*120*t); s
| Noise = 2.0*randn(size(t)); X = Signal+ Noise; “r
! subplot(2,1,1);plot(1000%t{1:50),Signal(1:50)): hold on | : |

! subplot(2,1,1);plot(1000*t(1:50),X(1:50))
i title('Signal + Random Noise')

1 xlabel('t');ylabel('X(t)")

'

LY = fft(X);

| P2 = abs(Y/L);P1 = P2(1:L/2+1);

= Fs*(0:(L/2))/L;

! subplot(2,1,2);plot(fP1)

1
1
1
1
1
1
1
- \ \ \ \ \ \ \ \ \
1 0 5 10 15 20 25 30 35 40 45 50
H t
1
1
1
1
1
1
1
1
1

One-Sided Power Spectrum
T T T T T

1. . L .
1 title('One-Sided Power Spectrum') 0 50 100 150 200 250 300 350 400 450 500
1

1 xlabel('f');ylabel('| P1(f)|')

0 13.1: 000Signal0 0000000000 NoiselDODOOOOOO
gooooooXboomooooboo rFTOO0ODODOOOOOD
ugood

e 2000000000 0ODODODOSignalD 00D OODOO Noise O
gboob20000000000000000XO000O000O0
gobboooobboboodd

e Y=t(X)DODOOOODOO XOOOFFTOOOOOODDOOODOO
YOOoooooooood

e JOUIDOUDODYDOUOODODODODODOODODODOD
O f=50,1200000000000000D00D0OOOODOOD
gobbolg2000b000040d

13.2 0O0O0O0OO0O0OO0O

13.2.1 000000000000

gbgbobob3bobuoooboooooooboobobobobob
gbbodbooobooosbuoobbogbbogboboboon
gogoobobobbotoodoooooobobobbboodoooooon
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gdddoooooobobbbbbbbbdoooooooooooo
gbboooboobobooboooboobboobboobooon
ggbobobbouoooobbbooooooobbbbooooon
gbboooboobboobboooboobboobboobooon
ggbbobuoooobbbuoooobbbooobboboom

13.2.1.1 000O0O0O000O0OOOO0

O00o0oob0ob0o0ooooDobooboonboobOodwaveletd O OO
gddd+«oddooododoooooooooon
gobooo:

1 t—>b
RSN
¢,b() \/aw a
0000000000 00000O0O0O0O0O0O0O0O000000O00O0O0OO00
goddoooooodooouooouooooooon
0000000000 0000O0oooooO0O (00 f)b200000
ooo0o

o0

W f)(a,b) = / dt Tan(d f(0)
DDDDDDDDDDDDDDDDDD[Wwﬂ(a,b)D a,b000000
goooogd
Ogdoodgooood ¢(t)DDDDDDDDDDD admissibilityconditionD
g0 ddodooooobooggd

f(t)=C;t /_ ” /_ T b 0 Wf](a,b) vas(t) |

o0 cCc,0¢(¢)0000000000000000000O00O0O0OO
googgoobobbbbbobobbbbioooooooooooon
gbogbbobobobbobboobooobdoooboobaoon
gbbomobooobbuoobobobououbuooooonn 2016
gmoboboobooon
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13.2.1.2 00000000000

gbbooouobboboooboobobooooobobouoboon
gobobooodan

(1)  Real Shannon wavelet (sinc wavelet)

(t) = 2 sinc (2t) — sinc (t) = sin (27t) — sin (7t)

7t

t2
2 Molret wavelet (t) = 74 exp(——) cos ( 7ty | ——
2 0

(3)  Mexican hat wavelet (t) =

13.2.1.3 000O0OOOOO0O0OOOOOOoOoobooOoOad

0000000 {¢xtjkez 0 2000000000000000000
0000000 f¢)00D0O0O0O00O00O00O0OO

f(t) = Z > cinin(t) .

Uubde, 00000000000

13.2.2 MATLABOUOUOOOOODOOOOOOOOOOO
godooon

MATLABOOOOUOOOOODODOOOOWavelet ToolboxO OO O OO
gdoddoooooobobboobbobbbbbodoooooon
gobooogo

13.2.2.1 00000

gobobuogbbogobboobbooobbbuooobboogbn
ggbobobbooooobobbbooooonooooboboooon
gubogdboodoob e, bob0dbooaoouoobodoaoad
gobboooboboboobobobuooobbboobbooobboban
ggobobbbobbouoduooooobbbobobbodoooogoon
gobbobooooog

U 13200000000000400
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Original Signal
T

' load noisdopp 0

denoise = wdenoise(noisdopp); |

' subplot(2,1,1);plot(noisdopp);

I I I I I
200 400 600 800 1000

Denoise Signal
T

1200

' subplot(2,1,2);plot(denoise)

title('Original Signal')
title('Denoise Signal')

. hold on

I I I I I
200 400 600 800 1000

U 132 0000000000000000DODO0OODOODODOODOOD
gogbobuoooobbodaodd

e Wavelet Toolbox D OO DOOOOO 1000000O0000O 1x1024
000 noisdopp (noisy Doppler signal) 0 Load 0 00O O

e 1000DUODDOODODDDODOOOO wdenoise(x) 00O O wde-
noise(x, leve ) 00000000000 Olevel 00O0O0O0O0ODOO
ggooood

13.2.2.2 00000

000000000000000000000000 GIF. JPEG, JPEG
2000 0 000000000000000000000000000000
0000000 ifdjpg 0000 jp200000000000000
0000000000000000000000CGIF) 00000000
000000000000 JPEGOJPEG20000 00000000000
JPEGO JPEG 20000 00000000000000000000000
0000000000000000000000JPEGOOO JPEG2000
00000000000000000000000000000000
000000000000 00000000000000000000
000000000
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Oo0000opooooOCOOOO000O0oDOO0OUOobODoOOMATLABOO
00000000000000000 1/2Y0000000000000
gbobooobboobobooboboobboobboobboooo
gboobdooboooboobooboobood

e Stepl ToolboxO O ODOODODOOOO 'woman’J 000000 JPEG2000
00000000000 imread(’....jp2) 0000

load woman;

image(X)
title('Original Tmage(')
colormap(map)

size(X)

— lcad D000 0O0O0OO0O0OODOOODODOOOOODOO mapO 255
x 3000000 XO26x 260000000000000
udo 13.300

- image(X) OO0 XOOOODODOOODOOOODODOOOOO

— colormap(map) 0000000 XOOOODODOOOOO map O
goooobooooooooad

- size(X) DOOOXOOOO256x 25600000

e Step2 D OOOOOODOODO

wv =’ dbl’;
cfs, inds] = wavedec2(X, 3, wv); O
wavedec2(X,3,wv) 0 0000000 wvdOOOOOOODaubechies

o000 o0 dl-ob0bbobooboobobgobg Xogoog 3
g2000000000o0bo0o40a4go

e Step3 0UIDO0ODOO cfsODOODOO 2064 x6400 000000 3
U32x320000000000002000000000¢0 1340
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Original Image 0

50
100 &
150

200

0 13.3: 0000000000000000256x 256)0

gboobgboog

cfs2 = appcoef2(cfs, inds, wv, 2);

figure;

imagesc(cfs2)

colormap('gray’)

title('Level2A pproximationCoefficients’)
size(cfs2)
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0000000000 P=min(n,m)0000O
Px(14+n+m)

O0O0min(n,m)00n0 mO0OO0OO0OOO0DO0O0O00O0OOOOOOO
ggboboboboogobbbnxmdooboboooooooon
gbooboobobobobooboooobooboooboobobpPOOnO
gbobobobooboooooobopPUOnmb 100010000000
gboboobooobuooil1gobuoooboobboobbooob
gogobobbobbbooooooobobboobbbotooooooon
gobbbooobbboooobbbdoodobo

14.2 MATLABUOOOOOOOO

g0ooboodbo k00000000 kbOO00ODODbOOODbOoOobOoODg
godd
kEx(14+n+m)

O000O0o0bO0bO0o0ob0obO0oobO0oboobobooooO MATLABO
gobobobooogbobob

Stepl 00000000000 YasudaP.jpg 000 img DO O0O0D0OO0O
ood

>> img = imread('YasudaP .jpg’);

gboobooobobooboobdwhes OO OOOOOooOO
gog

>>  whos img

Name Size Bytes  Class Attributes
img 2515 x 2525 x 3 19051125 uint8

000000 YasudaP.jpg 00 img(2515,2525,3) 0000000
O00000000wit0 000000 000000 (unsigned
integer) 8bits 1 0 0 0000000000 OOOO
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O00dooOoRGBOOOOOO3OODODODODODODODOOOOOO
R(red)0 G(Green)O B(blue) 00000 3000000 1~300
gooon

>> redlmg = img(:,:, 1);
>> greenlmg = img(:, :, 2);
>> bluelmg = img(:, :, 3);

g00OooRrRGBO 30 OO0ObOO0OOOOUOOoOobOoobooooDobOon
guooooboobobbogood
>> imtool(redlmg)

goood
0 mwrite(redImg,’ redImg.jpg’);

gobbobuooobbbooodgo20bbooooboon

O000o0ooooooooobobOobOonDO rgb2gray 0D OO
goboooogboon

>> graylmg = rgh2gray(img);
0000 rgh2gray 0000000
gray = 0.2989R + 0.5870G + 0.1140B
gooooooo

000000 graylmg OO 0D OO0 O0O0O0ODOO0OOODOOODOO
o000 boooooooooooo
0000 imresizeD OO OOO

>> graylmg( = imresize(graylmg, 0.2);
O000bO0o0obOOooooooo200b00000
>>  whos graylmg0
Name Size Bytes Class Attributes

graylmg0 503 x 505 254015 uint8

254015 = 503 x 505. 0 0 O Bytes 0 0 00 O 28 : 8bits=1Bytes)
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Step3

Step4

0140 00000O00bOOoobOobOooboobooDo

goddouououduoduoouooooououo wnt80 OO
0000000b00o0oo000ob00o0boooboobon doubled
O0O0e64bits0 00000000 0O0OOOOOO

>> graylmggray0 = double(graylmg0);

>> whos graylmggray(

Name Size Bytes Class  Attributes
graylmggray0 503 x 505 2032120 double

2032120 = 503 x 505 x 80 64bits=8Bytes

ododododooooouooood
>> [U, S, V] = svds(graylmggray0, 50);

gboboggbooosobuobbagooboggsouunbood
gobbobooooood

gooosodoououooouodgoo
>> grayb0) = U * S * V';

U,S,voOooooo whes DOODOOOOOODOOODODO

Name Size Bytes Class Attributes
grayb0 503 x 505 2032120 double OODOOOOO
U 503 x 50 201200 double
\%4 505 x 50 202000 double
S 50 x 50 20000  double

SOO0D0O0ogosxs00000HK00000000000
gobboboooobbboooon

503 x 505 — 50 x (1 + 503 + 505)

E=50000000000000000O00bOO0bDO0ObDOoOoOog
O0s000000000DO000DO0ODOODOOOOODOOOD
gooon

grayb0 0 double DO 000000000 ODOOOOOODOODOO
unt8J 00000 go

>> igrayb0 = uint8(gray50);
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k=503(full)

-
"

k=5

U 14.1: bogobooboboobboobooobooobooonn
goooooobOosk00b00b0obOobbooboonDg

Stepb DU DOO0OO0OOOOODOODOODOOOOOO

imwrite(igray50, gray50.jpg’);
imwrite(igray50, gray50.png’);

ooooboobo0 41000000booob gD 100b0k~b000
ggboboboooobobobooooa
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15.2.1 Simulink0O 00000 10

o000 SimulinkO00O000D0O0OO0COOO0ODOOOODOOOOO

15.2.1.1 SimulinkO0000O

Simulink 00000000 20000000000
0010000000000 OsimulinkbDO0O00
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OO0 SimulinkO0O000000O00DO0OOOOOOOOOODOO

OO0 ODSimulinkO00O00000000Smulink0000000000O0O
ERERE

ggbbbuooobbboooobbbuoobo

15.2.1.3 Simulink 0000000 ODOOOOOOOOOOODOOO
oo

U bogbbogbbgbobuooboobob obobooooaoo
gobbbuoogobbodoodoobd

O00D0OSmulink OOO000 OO0O0OO0OO0OODOOOOO
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15.2.2 Simulink 00000 20

Oooooooooooo0oobboo Smulink0OO0O0D0OOODOOO
gooboooboobobdob RLObDODODODODODOODDODOD
gbooobdg
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gobbobooooboboo200b0b0booood

(a) (b)

n, L)

Signal

Sine Wave Scope

0151: () 000000000000 0000O0O0O00O0O0O0O0O0OO(MDb)
ggboooodgoboo

Stepl Sources Blocks O 00 Sine WaveOl OO OOOOO OOOOOOO
O0ooooooooooooo

Step2 Commonly Used Blocks 0 00O Scopel 0000000 ODODOOOO
gdododouooouououod

Step3 0O Sine Waved OO ScopeJ 00 OOO0OAQOO BOODOODOOO
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Step4 DODOOOO0OO0OOO0OOScopel DODOODOODOODOODOODO
gbobobooboboooboboboboobooobobo
gobobooogoboo

Step5 [0 Sine WaveOl O OOOOOOOOOOOODOOODOOODOOOODO
gbgbooouobobououobobooboboboobobood

g 1s.10o0obo0gobood

15.2.2.2 200000000

2000000000000 ooboouoo 1o g
Jdododooooobuobuobooog
Az dx
O mL % ke =
M + 7 +ha f(t)
00Oz 000000 tDDDDDDDDmDDDDDDD”yD(DDD
DDDD,]{JDDDDD,f(t)DDDDDDDDDDDDD

gogno

dPr 1 dx

=l g ke
0000000000000 0000000000000000000
000000000 1/m000002020000000000000
00000000000 000000000000000000000

good
Stepl OSumO 00000000000 ODOODOODOOOOO

Step2 OSumO 0000000000000 OOO0OOOOOOO OOO
ooboobbobooboooooboooobbooboboOoboog Sum
blockDODOODODOODODODODODOOO f(x)DOODOO 2DD—7%
O —-k0000000000000

Step3 00000 1/mO0000000Gain0 00000000000
goooooooboosSumO0O0000 GamOOOOOOOO

Step4 DGainOD OO0 O0O0O0O0O0OO0O0OOOODOOODOOOOODOOOO
O0@MGainO0 0000000 1/ mOi00000O0mMOOOOOO
OD00D0Gan00000000 £2000000000000000

at?
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Sum

O 152000000000
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gbooboobooboobobbobboobooon

007000 :00000000000CZ"0100000001000
gogg

Stepd DU OOOOOMtegrator0 00 OO0 O00O0OOOOOOOOO
gooo

Step6 DU DOO0OOO0OOOODOOOOODOODO

Step7 DUOODO0O0O0OOOOODODODOOOODOOOOoODODOD
O000000DO000ODODOO0bOOO0bOOoOooOSstepgoognO
OO00O000DO0oboOoo0OoOdScopeODOODOOO 15.300

Step f
kx !

Y X' Gain Integrator1 | Integrator) Scope
X' -
Sum

U 13 000o0oo0d 20
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16.3.1 UUOOOOOLDOOSSOUOO0OObObLbbOOnOd

MathWorks O O 0 0O 0 0 NutMeasurement.mlx DO O000O0O0O000OO
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e JOOOOOODODO
O I = imread('DSC_1895¢cr.png’);
O figure; imshow(I);
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O Ilab = rgb2lab(I);
O [L, a, b] = imsplit(Ilab);
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glel 0OO00O0OO0ODOOOO0O OO

— 0bogdg oboogggoobogggoboboogn.

O [Tedge, th] = edge(L, 'canny’, 0.06);
O imshowpair(L,ledge, 'montage )0 O OO O00O0OO0O0O00OO

— Morphological Closing 0000000000 O0ODOODOODOO
O000D00bO0oooooogg

0 bw = imclose(ledge, strel(’disk’, 3));
0 bwNuts = imfill(bw, 'holes’);
O imshow(bwNuts)

oo ooooooooooooooboboboboboobd imshowl

O figure, imshow(I .* repmat(uint8(bwNuts), [1,1,3]));

e (10

— 0D0000: Area0 000 O EccentricityD 0000 0000
Jdodoooooooooooooobbobobboboboboon
gdobbuoooobbbooooobb ooboboob

O imageRegionAnalyzer(bwNuts); O

O stats = regionprops(BW properties)d 0000000000
000 BWOOO8OODOO (000000 )0000 prop-
erties 0D OO00O0OODOOOOOONOOONOO properties [
odoobooooooboooooboobooon

Area O Eccentricity 00000000000 OOOOOOO
0o0ooooooooon.

O stats = regionprops(bwNuts, "Area’; 'Eccentricity’, - - -
00 O ’Circularity’, "MaxFeretProperties’, 'BoundingBox’);
OO areas = [ stats.Areal ;

0 O eccentricity = [ stats.Eccentricity ;

ggooooggd

O figure, h=histogram(areas, 10); title(’ 0 O );

O figure, h=histogram(eccentricity, 10); title(’ 0 O O’);

gboboooogbobobouobuooobooobobon
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O idx_GiantCorn = [stats.Eccentricity] < 0.5; 0

O Idetect = insertObject Annotation(I, 'rectangle’,- - -

00 [cat(1,stats(idx_GiantCorn).BoundingBox)], '"CORN’,- - -
00 O ’Color’, "blue’, "TextBoxOpacity’, 1, 'TextColor’, 'white’);
O figure, imshow(Idetect);

gboobO200000000"00bbbooooboboboogn
goooo

O idx_Large = O stats.Areal] > 1500;
O idx-Small = ~ idx_Large;

— bbuoogobbbogobobuoooubobbuoooobo.
00000 (p00)000000000ODODOOOOOO0

O stats_a = regionprops(bwNuts, a, 'MeanIntensity’);
0 h = histogram([stats_a(idx_Small).MeanIntensity], 10); - -
00 titleCaO O7)

Joooboogoboobooogogooon

0 idx_Red=0 stats_a.MeanIntensity[] > 15 & idx_Small;

O idx_Green=0 stats_a.MeanIntensity[l < 15 & idx_Small;
O Idetect = insertObject Annotation(Idetect, 'rectangle’,- - -
0 O cat(1,stats(idx_Red).BoundingBox)O , 'RED’, - - -

0 0 ’Color’, 'red’, "TextBoxOpacity’, 1);

O Idetect = insertObject Annotation(Idetect, - - -

O O 'rectangle’,0 cat(1,stats(idx_Green).BoundingBox)O ,- - -
0 O ’GREEN’, "Color’, “green’, "TextBoxOpacity’, 1);

O figure, imshow(Idetect) D0 00000 OO

00000 3/s000000000.

— DO000CircularityD 00000
0000o0o000oofdooooooooofdnn

O h = histogram([stats(idx_Large & - - -
00 7 idx_GiantCorn).Circularity] , 9); title(" 0 O 0 );

gboobobobobbobbobbooboobbobodon
gooooooon
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0 idx_Almond = [stats.Circularity] > 0.8 & - - -

007 idx_GiantCorn & idx_Large;

O idx_Cashew = [stats.Circularity] < 0.8 & - --

007 idx_GiantCorn & idx_Large;

O Idetect = insertObject Annotation(Idetect,- - - O

0 O 'rectangle’,[cat(1,stats(idx_Almond).BoundingBox)],- - -
0 0’ALMOND?’, 'Color’, 'magenta’, "TextBoxOpacity’, 1);

O Idetect = insertObjectAnnotation(Idetect, - - -

O O 'rectangle’,[cat(1,stats(idx_Cashew).BoundingBox)], - - -
0 0 ’CASHEW?’, "Color’, ’yellow’, "TextBoxOpacity’,1);

O figure, imshow(Idetect)

gboobuoobooboobobobobsuoboobg.

e JUUUDLODUOLODLOUOUODLDULODLOLOU. DOUOUODLDbDOO
%oooooooo

labels = cell(length(stats), 1);
labels(idx_GiantCorn,1) = {sprintf(’%-6s’,’Corn’)};
labels(idx_Red,1) = {sprintf(’%-6s’,’Red’)};
labels(idx_Green,1) = {sprintf(’%-6s’,’Green’) };

(

(

labels(idx_Almond,1) = {sprintf(’%-6s’,’Almond’) };
labels(idx_Cashew,1) = {sprintf(’%-6s’,’Cashew’) };
O labels = cell2mat(labels);

gooooobooog

0 data_table = struct2table(stats);

O label_table = table(labels);

O table_all = O data_table, label_tablel ;

goooon
O statarray = grpstats(table_all(:,0 1 3:6 endO ), "labels’)

U
U
U
U
U
U

0 16.1: 000000

labels Group- mean._ mean- mean_ mean_Max mean_Min

Count Area Eccentricity Circularity FereDiam FereDiam

1 Red Red 15 656.4000 0.8825 0.8242 44.5620  -124.3938
2 Green Green 8 693.8750 0.8072 0.8393 42.3641 11.5974
3 Almond Almond 4 2.3623e4-03 0.8397 0.8904 75.3938 -67.5016
4 Cashew Cashew 6  2.4475e+03 0.8093 0.7349 74.0489 -56.9131
5 Corn Corn 4 3.0768e+03 0.4111 0.9981 67.9186 -92.5418




16.3. MATLABOOOODOOOODOOOO
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0 l64: 0000 0bOo0boOoOoobOoOoobOoOoobOoooboooD

gboogbouoobooboobo

000000000000 164(0)0

O figure, gscatter([stats.MaxFeretDiameter], - - -
00O [stats.Circularity], labels);

O xlabel’ 00000 0"); ylabel( 00 0°)0

O grid on;

gooobooobgon

O plotmatrix(table2array(table_all(:,0 1 3:60)))
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16.3.2 0000000 0OOOO0OOOOOOOOOOOO
[0 TrainNetwork[]

gbodgbuooboobobobbobboboboboobbobbob
gbbogobuoboobuogboobobooobooobbooboaon
gbomobobooooboboboobobooboboboboon
OOOMATLABOOOODOOOOOOODOOOOODODOOOoDOoooOD

0000000000000 O0oDooDoDOooooooooog
0000000 Deep Learningd DO 000 DO0DO0D0O—000000O0
0000000000 Python OODODOODOOOOOODOOPythonODO
O00bO00OO0ObO0DOO0oO000bO0oDOO0OO0obO0O0ObDbOObOODbODO
000000DoD0bOO0oOooooooogn

gobbobuoooobbbuoooobbbooooboogan
1. O0ooodgbobboooobbog.

2.000000 0ODODOOoOoOoooboobo.

3. 000b0o0oooboo.

4. 00000000O0.
o.ubbbuoooobbbuoobbbooad.

e JUOOUOOLOOODDDOO
imageDatastore (0000 OOO0O0ODO)000O0OOOO0O0OOO
godbouboboobobodbobOlOUImageDatastore
goougbbtbooooobobbooobobobouoooubouoboo

oo0oooooog
O digitDatasetPath = fullfile(matlabroot,’ toolbox’, 'nnet’,...

0 O 'nndemos’, 'nndatasets’,’DigitDataset’);

0 imds = imageDatastore(digitDatasetPath, ...

0 O 'IncludeSubfolders’,true, LabelSource’, foldernames’);

gbobooooooooobon oot 20000000 imds
Ub4x 50000000
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O figure; O

0 perm = randperm(10000,20);

O fori= 1:20

0 O subplot(4,5,1);

00O imshow(imds.Files{perm(i)});
O end

PEEBD
NEEAR
EEEAR
SELLLE

0165 000D oooooood

labelCount U DO DOOUOUOOOODOOOOOOOOOOOOODO
0000000000 tableDODODOO0ODOO OO 900OODOO
gbobogg wocobogobooobon 1oo00D00O0o0noog
goooon

O labelCount = countEachLabel(imds)

Label | Count
0 1000

W N =

S| O W=

1
2
3 1(
!
5
5

-

€
{
8
9 100

gogbooboooobobobbbbootbododdduouooooooag
digitbata UUUOUUOOUOOOOOOLOOOO0OOO0ODOOOO0ODO0O0
UooobDogd28x28x1000000

0¢]

0 img = readimage(imds,1);

0 size(img)
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ans = 1 x 2
28 28

imdsOOODOOOOO0OO0OO0OO0OO0OOOOOOOO
splitEachLabel OO 0OO0O0O0OOOOMO imdsOO75000000
0000 imdsTrainO0 00O 2500000000000 imdsValidation
ogooooo

O numTrainFiles = 750;
O [imdsTrain, imdsValidation]=splitEachLabel(imds, - - -

00O numTrainFiles, ‘randomize’);

gooobdg gobooboooboo
gooobogoog booooboooboobooobogn

O layers = |
00 imagelnputLayer([28 28 1])

00 convolution2dLayer(3,8,’Padding’,’same’)
0 0O batchNormalizationLayer
00 reluLayer

00 maxPooling2dLayer(2,’Stride’,2)

00 convolution2dLayer(3,16,’Padding’,’same’)
0O 0O batchNormalizationLayer
00O reluLayer

00 maxPooling2dLayer(2,’Stride’,2)

00 convolution2dLayer(3,32,’Padding’,’same’)
0 0O batchNormalizationLayer
00O reluLayer

00 fullyConnectedLayer(10)
00O softmaxLayer

00 classificationLayer |;
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Input Layer (0000000 ): O0O0O0O O0OODO28 x 28 x 10

0000100000 000 (0ooooooooono
Convolution Layer UU U DUDOUOM ODOOUODODOOOODOOO

0000000000000 0 (CNN)OO0O0O0oooooooo
gbobooboopobooboo.gogbobooboboobog
gbboobuodbmudgobooboobboogboogboo
gogbbbmooobbbbbooooooobbobboagao
filterSizeUU DO DODOOUO 300UO0O0O00O0O0O0O 3x30
gobboobobboobbuooobbuooobboodobbd
OO00O0O0StrideD000000OO0OOO010 1000 00Padding’ O
gboboboootbobuobooobobobuoobobobo
ERERE

10bboogobobbuogbbboooobbod

0/1]2]3 o
3loj1]2|,/0][1] . Z i 3
2[3[0]1] [2]0] AVRE;
11230 e

00000000 2x200*2x20000000000000°7
Ubbbd200000 numFilters UOOUOOOO0OOOO0OO0O
ggbboboogobobooooooon

batchNormalizationlayer (000000 0)00000O0O0OO0O
000000000 0000000 batchOOOOOODOOOODOO

U0000Onormalize0 0000000000000 O0OODOOO

gobboob1l1obbuooooobbbbobbouoooobbobodao
gboboboobobobooooboboboooobobo
gbobogbobooobooobobobbooboboooboo
ERERN

reluLayer (ReLU O ) O ReLU(Rectified Linear Unit) 0 00 00O
gooooooooboobbbooooo

maxPooling2dlayer (00000000 ) OODOOOO (DDOO
00)000,0000000000000000A0PoolingdOdO
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glel 0OO00O0OO0ODOOOO0O OO

gbbogbbooboogoboogbboobbbobooboo
pool0 0000000 DO0OO0OOOOOOOOOOODOOOODOOO
gbbogbbuobuogobboobbuoobboboooboo
gbobboboobo1bo0oboboboboooobobo
UbboobooobDbd poolSize HUUODUOOODODOOOOOO
0000000000O0O0O0000 22]000000 200 20

goddooooood
0 2|3

112
01
310

W O =

3
2
1

dropoutLayer (00O OO000OD0)000000O0OO]layers={0 }

000000000 dropoutLayer(d O ,'Name’,Name) 0 0 00O
oo oodooooo
0oodoooooooooooooooooooooooon
gooooooo

fullyConnectedLayer (0000 )OO OOO0O0OOOOOO0OO

0000000010000000000000000000000
000000000000000000000000000000
0D0000000000000000000000000000
0D00000000000000000000000000000
00000000000000000000 (00000000
OutputSize J000000000000 00000000000
0000)0

softmaxlayer (000 00000)00000000O0OOOOOO

gbobbooboogbobugobboobtdy,bbbuooboo
gobogboboobboboooboooboobooobooo

N exp (vi)
) = S e (1)

gooo
classificationlayer (000 ) 000000000000 OOO

gbbobboobbogbuoobboooboooboooboo
gboooooboboboobobooooobobobobo
gbbogbbooboogbobooobbobbooboboooboo
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gbobogbbuooboboobboougbboooboooboo
gboogood

gboobgoobgn
gbogobooobbuooboobbobbooobooboo
gboooooboboboooooboboboobobobo
gobobooogoboo

gbobogbuogoboolobbo,ggobboooboobooo
0000000000000 000000000 (SGbM) OO0
gboobuogoboodgbbabboobobobboobboo
gbbogbbuooobooobboobbodobbbooboo
gobbobuoooobbooodgobobooooboboooon

gobbooobooobbbooboboobobooboboon 4
gbobobboobbugboboooboobuoobobuooobooo
gobogoboobuogoboobooobboobboboo
gobooogdgoboboogodgoobogod

O options = trainingOptions(’sgdm’, InitialLearnRate’,0.01, ...
00O 'MaxEpochs’,4,’Shuffie’ ’every-epoch’; ...

0 O ’ValidationData’,imdsValidation, ...

0 0O ’ValidationFrequency’,30, "Verbose’ false,’Plots’....

00O ’training-progress’);

gogbbbooobbbuoooobbod
layersUU O DOUOOO0OO0OO0OOOOO0OOOOOOOOOOOODO
gobbouooobbbuoooobbbuooobobon

gbobogboboobooobobbobboobboooboo
gbobooooooooobooboboooooooooboobabg
goooboo

O net = trainNetwork(imdsTrain,layers,options);




114 glel 0OO00O0OO0ODOOOO0O OO
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e OUUOOODLODOOOODLDODO
gbbogboobbuoobbuoobbuoobbuoobboono
gbobogboobodbbooboobboobboooboo
gobooooon

0 YPred = classify(net,imdsValidation);
O YValidation=imdsValidation.Labels;
O accuracy=sum(YPred == YValidation) /numel(Y Validation)

accuracy = 0.9888

16.3.3 0000000000 OOOOOO0OOO0O000O an-
alyzeNetwork []

godoobooooooooooooood
analyzeNetwork(layers) D Olayers 0 000 000000000000 ODO
O o0odooooooooooo
analyzeNetwork(layers)

00 analyzeNetwork OO O OO0O0O0O ODOODOOOOOOODOOODO
goodoooobobbbooooog.
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Jooobooboboo

All10o0oooon

Al 000ooooooooon

MATLABOOOOOOODOOOOODOOOOODOOOOOOOOO
gogobobobobbbododoooooobbobbbbooduooooon
gdddduoooooododooduooooooooooooooobo
gogbboboogonbo
O0000000000000000000O[double] 000000000
gobobooogoobooon
OoooooooooOoOO000oooooooobbboboOOOO double
000000000000 00000000000000000 0O [uint§]
ggbbbooobbbuoooobobod

Al1.1.2 000 00O anonymous functionl]

gogoobobooobbboododoooooobobobobbboboooooon
gobooobobooboobooboobe@ooobbooboooooboog
00000000000@IOD0O0O00000 (()0D00ooooooo
gbobobbeioooboobobobobobooooobo 100
gogoooobobbbobbbbodooooob11ddodoooooon
ggbbobuoooooogbobbooooboboboan

Al1.2000000

Al21 00000
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JO00O0MATLABOOOOOO
HRERERE

A21 00000000000

00000 000000000000000 00000000000
0000000000000000000 00000000000000
[000]000 [00]000000 [00]000000000000
[MATLAB|O [0000]0000000

A22 MATLABOOUOOODOOOOOOOOO

00o000ooDooo

type File_Name
OO0OO0OOMATLABODOOODODOODOOOODOD FileNameO O OO
oo0ooooooo
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Scripts
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O0OMATLAB Drive OO0 O00OO00OD0OOOOOOODOOOOCOO
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000000000 (CanEdit) 0000000 (Can View) O
000000, Invitation 0 00000000000000000
oooooo
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Drive OO NewFilemlx OO0 O0OD0OO00OO0OO0O0OOOOODOOO
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gbodbodgbobodgboobobobobooboobadgod
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00 4000 000004d -
MATLAB Grader

A4.1 MATLAB GraderJ 0 U

MATLAB Grader OO0 OO0 0O0O0O0OD0O0OODOOODOOODOOODOOO
Obob0obobOCowsel D0 0O0O0ODOODOODODODODODOO
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— Course Description] 000000000000 OOO0OO

— Assignment]] 000000000000 O0OOOOODOOO
DoOobooboog

— Problems] 00000000000 0ODOOOOOOOO

0000000000 (Reference Solution) 00000000
DO0O000b0dd0 emailDOOO0OOOODOOOOODOO
goooao
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0000 (Assessment) 0000000000000 0OOO
gbogobuodbodbogbooboobooboobon
gboooodgo
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gogbobobuogoobbodoodd
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=
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MATLAB Grader product pagell
https://jp.mathworks.com/products/matlab-grader.html =

1. MATLAB Grader OO0 Q00000000000 “Guided Tour
video” OO OO0

2. MATLAB Grader 00O 00O 0O O0https://grader.mathworks.com/

e [] For Instructors: Create Courses and Coding Prob-
lems[]

https://jp.mathworks.com/help /matlabgrader/matlab-grader-for-instructors.html

— OCreate Coursell: 0000000 OOOOODODOOO
O0ADD COURSEODOOOOO0OOOOOOO0OOO
oooooo
= [0 Markup in MATLAB GraderO OO OO0O0O0O0OOO
ooooo

(a) O Create Assignmentd: 000000000000
O0000000ADD ASSIGNMENTOOOOO
Oodooogooooooooooond
000 Visible) DO O0OO00O00000O00ODODOOAssign-
ment OO0 OO0OOO0OOO
00000000 Number of Submissiond 0 OO0 O
ooonf

* 0 Add Problems[: 0000000 (Assessments)
0000000000000 000O 000 Blank Prob-
lemO0000000000OO0OO0OOOOOOOOOO
goooooo

* [ Reference Solution0 00000000000
00000ooDoooo
0 Learners Templatel 00000000000
0000000000000 D000OLockDOODO
000o00oDOobOO0b0OOoooooooooDoooo

x 0 Assessmentd ] Test 0 00000000000
O0000D00O00OO0OPretest D000 O OOO0O
gooddoooooooooooooooooa
godoobooooooobooooaoo
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«+ D00 Edit0 00000000000
(1) Learner PreviewO OO O OOOOOOODOOO
un
(2) Validate Reference Solution0 0 0000000
gooooooo
(3) Save as Draft O Save as Finald Draft 0 0 O O
gooooooboon

(b) O Manage PeoplelI 000000000 OOOODO
O000OmaillO0 00000000000 0O00O0O000

000 MATLAB Grader D OO QO OO

0 00O For Instructors: Create Courses and Coding Prob-
lems0000000000Add ProblemOOOOOOOOOOO
OO0000o0boOoooooo

(a) O Create Script-Based Problems[T]
OO0O000Problems00000O0O0ONO

(b) O Create Function-Based Problems[T] [J
(c) OAssessments(D 0 0000000000000

e Testing Learner Solutions
o Write Assessments for Script-Based Learner Solutions

e Write Assessments for Function-Based Learner Solutions
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